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BEWARE OF NEGATIVE MARKING

TOPIC : Full Syllabus (XI-M ODEL)

SECTION-A

If the position of the particle is given in the function
of time as x =4 + £2- 4t. Then find out distance

covered by in 4 sec.

Att=0aparticle is projected from point O on the
ground with the speed 50 m/s atan angle 53° with
the horizontal it just passes two points A and B
each at height 75 m above the horizontal at time
tand t, thent +t equalto:

(1) 8 sec

(2) 4 sec
(3) 10 sec
(4) 6sec

In the given figure find out average velocity
between the points P and Q :

F

o
v

(1) usin®
{2) ucos®

u?sin26
29

u?sind
sin®

The effect of noise on the speed of sound in air:

(1) 1
Ve intensity of noise

(2) v o intensity of noise

{3) independentofnoise

@) v

2
1
intensity of noise )

SECTION-A
;yinkll hd. kdhilRf le dsQues =4 +t- 4t
dbrie: | slsMesyiog hrifacr ity 86
(1) 9m
(2) "oy
(3) 8m
(4) 36m

;int=0ij ,d d.klis{i§t | s3-disdj {6t Is
50 m/s dsox | si i r &; ki kol ; ind. kicagy
vifs t il | daAplkiZs mij oilld e t VIBt ij
I sa vise xtyjrkgia, +t, glj gaRo

(1) 8sec

(2} 4 sec

(3) 10 sec

(4) 6sec

fit 5 skesilrp vipo dseg vibr ox gek

F 3

(1} usin®
(2) ucos®

u?sin20
29

(3)
u?sin®

sind
éofu dhpky ij ' i dhrioekd kD ki @Z Mkg%
(1)

(4)

Voc—l
'lis dhrlogk
2) ve 'Hpdhriogk
(3) 'K dhriekdkd kA Hio uda Mk

1 2
W v ('Iﬁsd—hrluzlg)



Action reaciion pair of force always :
(1) Cancelled each other

{2) Nevercancelled each other

{3) May be cancel

{4) None of these

A block moves down a smooth inclined plane of
inclination 6. Its velocity on reaching the bottom
is v. If it slides down a rough inclined plane of
some inclination. Its velocity on reaching the

v
bottom is e The coefficient of friction is given
by:

1 1/2
(4) p—cote[l——z]

A bomb explodes in mid-air when it has a
horizontal velocity of 20 ms-!. It breaks into two
pieces A and B having masses in ratio 1: 2. If
A goes vertically at speed 80 ms-!, the speed of
B will be :

(1) 40 ms!
(3) 60 ms!

(2) 50 ms!
{4) 100 ms!

Two cars A and B started their motion
simultaneously with uniform velocity as shown in
figure. Find the shortest distance between them :

A g...000m

72 km/h 4
1400 m
I
54 km/h
B
(1) 20m (2) 40m
(3) 100 m @) 15m

2 kviBi £10% key gesk%

(1) ,d riysdkfylr djrsgs

(2) ,d riysdkfylr dHbhudgadjrsds

(3) fUlr dj I drsg5

(4) njler disdda

,d xsd k{8t | odlskij fpdusr leryij fiQy
jokgS Rkry ij H dkosvdB; fn; g knipr lery
ij i QyrkoSed dkox ry ij — gekdBl krigry
dkXidxae geies

1
(1) 1= tan{-)[l—nzj

1
2) K= Cote[l— n—z)

1 1/2
(3) u= tane[l—n—zj

1 1/2
(4) p—cote(l—n—zj

,d ce 20 & ads{iBt ox | s<ir djrapsidiila
A 0B esio; i r gd kkagSt ud s®ekiled kv utk
1:208; A soer@ adhpky | A&dgj Aij t kk
o5 ¢ B dhply ggh%

(1) 40 ms (2) 50 ms

(3) 60 mst (4) 100 ms

nedlf AvigB ,d | ek xfr | § §Bkdjrsod Bkfd
fpokesin Kk kx; kfr lenuid scip esl) wre nilng&196

A L...300m

72 km/h 4
1400 m
!
54 km/h
B
(1) 20m (2) 40m
(3) 100m 4) 15m




10.

12,

Which of the following figures represents the
motion of a body moving in a straight line under
constant acceleration :

! 1/
(1) (2)
T t—> t—
yL yL
(3) 4
‘ t— ‘ t—

Work done by centripetal force in a non-uniform
circularmotionis:

(1) zero
(2) non-zero
(3) maybe zero

(4) neverzero.

A child sits stationary at one end of a long trolley

moving uniformly with a speed V on a smooth i

horizontal floor. If the child gets up and runs about
on the trolley in any manner, what is the speed of
the CM of the (trolley +child) system :

(1) 2V
(2)4V
(3) 0
(4)V

The driver of a three-wheeler moving with a speed
of 36 km/h sees a child standing in the middle of
the road and brings his vehicle to restin 4.0 s just
in time to save the child. What is the average
retarding force on the vehicle ? The mass of the
three-wheeler is 400 kg and the mass of the driver
is 65 kg:

(1} 1.2x10* N
(2) 1.2x10°N
(3) 1.3 x10°N
(4) 1.2 x105N

10.

12,

i r Ryj.KI 4 1 hibkea djrsgped. kdsy; I
| kvikni; & %

t— t—
! !
(3) (4)
t— t—

vl ek olly xfr esvHd By Hikfd ; kx; kdk Zo
(1) 'Ky

2) Vi

(3) 'K gd drkg

(4) dHbudagd drkds

,d ck,d yEchWhdsfl jsij cBkagtlsvox | s
fodusiBt ry ij py johds inchok{ Rikgslj Wh
ij HerkgS ¢ WWho dpsd a@eku ded hxfr ge&tfo

(1) 2V
(2)4V
(3) 0
4V

36fdehi i Hasdhplky | oyrkgukd ki d kiMoo | M
ij [ Rdd chhsdlgbhk ko chhsd lapkeseadk jlelus
ij 416.MyxrsoBdl dkelbu D kgelddl dk
neku 400 fdxkr AkMooj dkrn el 65 fd xkg®kb

(1) 1.2x10*N
(2) 1.2x10°N
(3) 1.3 x10°N

(4) 1.2 x10°N




13.

14,

15.

16.

A vibratory motion is represented by

X = 2Ac05mt+Acos(mt+%] + Acos{wt+ )

+ﬂcos [(ot + 37{]
2 2

The resultant amplitude of the motion is :

9A J5 A
W 4T
5A
(3) Bl 4 2A

If 7,&,U and & are radius vector, angular velocity,
linear velocity and angular acceleration of a
particle executing circular motion. Which of the
following relation is correct

(4) (@xa)(lxr) >0

A particle is moving on a vertical circular path of
radius rabout centre O shown in fig(Anticlockwise).
The string connecting the particle and centre O
has length r and is massless. The direction of
acceleration of the particle when itis at A may be
along

{1) AO
(3) AD

(2) AC
(4) AB

A solid sphere roles up a rough incline plane. The
friction forceis:

{1) Acting down the incline
(2) Zero
(3) Acting up the incline

{(4) Dependenton the speed

13.

14,

15.

16.

x=2A c05mt+Acos[mt+;) +Acos(ot+m)

+ACOS[(0t+3n)
2 2
xfr dkvk le ggl€o

9A J5 A
W7 g

5A
3) > 4) 2A

yinr.aavibajsih | ikdisih ox] jBiy ox rAk
dlskRyj. kgsv i5d . kol xfr dj jokdériduii ea
| di | kdAa | B g%

(1) @+7>0

(2} (@xV)eo(@xF) =0
(3) (@xFlad<0

(4) (&dxa)(lxr) >0

,d d.kA&iZj ry esolly xfr dj jokg3d dkd e
o r AR kr oS g dedor 2t ket dj jokgBNgh
dhyEckiz rAkd . kd krndeka m g5 . kd hil Fic *A*
ij d.kdkRyj.kfuR edl Sl i kesgl®

(1) AO
(3) AD (4) AB

,d Bl xiggdls d ur vkr [krjgyij Aij dhvis
yeatk kt kkgbd 1] Ridey dhin' lkgglvo

(1) vkr leryij up dhvig
(2) 'k

3) vkr lery ij Aij dhvis
(4) xlgsdhphy ij fuHZdjgk

(2) AC




17. A disc of mass M and radius R is free to rotate in
vertical plane about an axis xx’ shown in fig. Itis
released from topmost position, its velocity of
centre of mass at lowest position is:

X X
16
() JoR @ TR
8
(3) ggR (4) f8gR
18. If a particle of mass 2 kg moves along a line
y =x + 2 with the uniform velocity 2 m/s. Find its
angular momentum about the origin :
(1) 42 kgm?s
2 4 kg m?
(2) 2 Kam s
(3) 4 kg ms
{4) 8 kg m?¥/s
19. A body of mass m is dropped from 2R from the

surface of earth. The speed of body just before
hitting the earth’s surface will be [R is radius of
earth, g is acceleration due to gravity]:

b

| h=2R

- —<>Earth

17

18.

19.

: M R
 ry esoe vikddfirydadddy, lor&d; s
fpobly NSt kg ¢ ; gfuRire flfk ij vkxid ris
b dhply gei¥e

16

(1) oR (2) ?gR
8

(3) ggR (4) /3R

;2 fdxkr®edk,d d.kemsdsox s d 1jy

jlky =x +2 dsvulfl kdr djrkgSleewfoagld gk
nhdkdisky | ex g%

(1) 4.2 kg m¥/s

(2) % kg m?/s

(3) 4 kg m?/s

(4) 8 kg m?/s

,d olrcfld Fohry | 2r Apiad sNiskt kkkdB; g
i Fohry | SdI phy | ixjskit ohdi Fohd HiT; kr Ak
g Xgroh Ry. kg




20.

21.

22,

The acceleration (1) and displacement (x) graph
is shown in the figure. The time period of
oscillation is:-

d
A

450

(1) 2m seconds
(2) 1 seconds

(3) 2 seconds

1
2

A man of mass 50 kg is standing on a plank of
length 2m and mass 150 kg, which is placed on a
horizontal frictionless floor. If the man walked from
end A to B, then actual (i.e. with respectto ground)
displacement of the man is:

%o ’

«——2m —»| B
150 kg

~ P
n=0

(4)

A

(1) 2m (2) 1.5m

(3) 0.5m 4) 1m.

In the given figure a body rolls without sliping on
a curve path. If maximum heightachieved by body
is h, then shape of the body is :

{1) solid sphere
(2) hollow sphere
(3) ring
(4) disc.

20.

21.

22.

fdl H jy viorZir dkRy. k1) o folFk u (x) xi Gry k
x; kaBvilordlky dkeku geléo

a

I 3

450

(1) 2m seconds
(2) 1 seconds
(3) 2 seconds

1

27

,d OfDr ttldkr®du sokg o5, d iVistldh
yEHZ2m rAkrf)eku 150kg oS j [ kS \fs0 i Foh
ryij Rid g g3 cQfir Al s Nigij i gprkdS
rieQfr dki Fohry dd kdkfolH& u g&i€o

%0 "

«—2m ——|B
150 kg

(4)

A

-~ s S S I
p=0
(1) 2m (2) 1.5m
(3) 0.5m @) 1m.
fry sx; fp*kes d olr qp@id ki i Ffcukfi Qysyedr h
gid\ij dhvisvi dren Apkizd t khgBolraik
vIN- g&l9o

5 v?
h = EE
vZ
(1) Bl xigk

(2) [ Hhylodgk
(3) oy
4) pdrh




23,

24,

25.

26.

A particle of mass 2 kg travels along a straightline

with velocity y —p./x , where b is a constant. The
work done by net force during the displacement
of particle fromx =0to x=4dm s :

(1) b?
(2) 2

(3) 4b*

(4) J2 b

A body is dropped from restfrom height10m on a
horizontal floor. If coefficientof restitution between

body and floor is % then maximum height
attained after first collision is :

(1) 5m

{2) 10m

(3) 7.5m

(4) 2.5 m.

Select the false statement:

(1)

In elastic collision, Kinetic energy during the
collisionis notconserved.

The coefficient of restitution for a collision between
two steel balls lies between zero and one

(2)

The momentum of a ball colliding elastically with
the floor is conserved

In an oblique inelastic collision between two identical
bodies with initially one of them at rest, final
velocities are perpendicular.

A steel meter scale is to be ruled so that millimeter
intervals are accurate within about5 x 10-°*m ata
certain temperature. The maximum temperature
variation allowable during the ruling is (C oefficient
of linear expansion of steel =10 x 10-6K-?!):

{1) 2°C
(2) 5C
(3) 7¢C

(4) 10C

23.

24,

26.

2 kg

v=bvx -dsvubii xfreu gdl d.kij yxuolysyla
Hikx =0l sx =am esfd; kx; kdk Zjsi€o

1 b
(2) 2b?

(3) 4b?

(4) 2 b

,d orofid Fohry | s10m d hA phid SNISht ke ko
olroy¥pry dscip i BkFckoxkel 5 derlei gy
ViXlj dschn olr ki itr Aphitigive

(1) 5m

(2) 10m

(3) 7.5m

(4} 2.5m.

. fURyf ke el d B dFki ply; &6

(1) ii@BKBAMDj doifaxirt At jffc udaggh

(2) ndWy xalsdsdp i BkFckxdid dkeaol 2 ds
cip esgek

3) fdl madki Fary | 30dj egfln | ex | {if uga
gek

(4) nolrygledscip eg i vidi B kEkfrj NnVdj ds
o riyhdrddj dd gy ldolRkeadarlovdjks
d<th rigeolrgled sx yEor gt ksgs

,d My dhely Idyg didd idlg vaidr djukgsd
ol e e W Freifiet J.ate 5 x10°m | ek
rd | chekicrig dvaidudd e vifdrefdruk

rk iford vuar %8skl My dkjfi ikl xdie =
10 x 106 K-1)

(1) 2C

(2) 5C

(3) 7°C

(4} 10°C




27.

28.

29,

30.

31

During iliness an 80 kg man ran a fever of 102.2°F
instead of normal body temperature of 98.6°F.
Assuming that human body is mostly water, how
much heatis required to raise his temperature by
thatamount:

{1) 100 kcal
{2) 160 kcal
(3) 50kcal
(4) 92 kcal

A steel ball of mass 0.1 kg falls freely from a height
of 10 m and bounces to a height of 5.4m from the
ground. If the dissipated energy in this process is
absorbed by the ball, therise in its temperature is
(Specific heat of steel = 460 J oule - kg-! °C-?,
g=10ms2):

(1) 0.01°C
(2) 1C

(3) 0.1°C
(4) 1.1°C

Suppose ideal gas equation follows
VP? = constant. Initial temperature and volume of
the gas are T and V respectively. If gas expand to
27V then its temperature will become :

T

(2) 91

(3) 21

(4) 79

Ther.m.s. velocity of a gas ata certain temperature

2 times than that of the oxygen molecules at
that temperature. The gas can be:
(1) H
(2) H
(3) CH,
(4) S0,

One mole of a monoatomic ideal gas is mixed
with one mole of a diatomic ideal gas. The molar

specific heat of the mixture atconstantvolumeis:
(1) 8
(2) 3/2R

27.

28.

29.

30.

31.

,d 80kg dsclel QfDr dkToj rk 102.2°F t cfd
| el 't r i 98.6°F gskdB,; gekrsopsd 'l dk
vi7 dkkHk t vy | scukgakoB el QD |1l rk
| 2102.2F rd vhusesid ruhA"ekvo' ke dji®%

(1) 100 kcal
(2) 160 kcal
(3) 50kcal
(4) 92 kcal

0.1kg dh,d My xa 10 m dhApHat dor s lod
i Fohry ij fjrhgS oary | 5.am AplPre nlyrh
dA; b i kesd; At I&a Hikvo' kk dj yh
t khgSc d dak emf/agsdMy dhfof Rv A'ek
=460 ) oule-kg'°C-, g =10 ms-3):

(1) 0.01°C
(2) 1°C

(3) 0.1°C

(4) 1.1°C

duylt ; svid &b | edlj.kdk: i vp:=1u; r Bxb

dki i ri ,cavkru @e' €5, oav B; inxb dk
vkruc<dj 27v ge kkgbrc H dkrk g&i®b

T

(2) ot

(3) 27T

(4) T/9

fdl h<b dkaxBe ewos nhhrk ij vV udsoxZ
ge ewox dk2 xgkdBxb gd drhgo

(1) H
(2) He
(3) CH,
(4) SO,

,d ilekiod vk kA ds,d ey disfli jekiod
vid &6 ds d dy dd Bkfeyk kt kkagSu; r vkru
ij g .kdhdlyj fof iV A"ekg%

(1) 8

(2) 3/2R

(3} 2R

4y 25R

2




32. TheP-V diagram of 2gm of helium gas foracertain | 32, ,d i@eA— B ddy, 2xe dfy; e X6 dkev o fpk
process A — B is shown in the figure. whatis the : : n
heat given to the gas during the process A > B : esir{ klo; kgﬁl PeA- s exd dlghsz\ ekg%
p P
2P0 2P[3
Po |.-mmg Pq
VID Z\J:g Y Vo 2V vV
(1) 4PV, (2) 6PV, (1) 4PV, (2) 6PV,
(3) 4.5PV, (4) 2PV, (3) 4.5PV; {4) 2PV,
33. A certain mass of gas at 273 K is expanded to | 33. : Ve iPe ed273Krk ij,dxb dhlu’pr eldik
81 times its volume under adiabatic condition. If vi ud Btk vkrudssixokrd i Ejr gshg; in
v =1.25 forthe gas, then its final temperature is: v =1.25 gérc xb dkvére rk g%
(1) -235°C (1) -235C
(2) -182°C (2) -182°C
{3) -91°C (3) -91°C
(4) -0°C (4) -0C
34. If a Carnot's engine functions at source | 34, ,d dkidhu L#s rk 127°c ,odl d rk 87°c dsip
temperature 127°C and at sink temperature 87°C, | ‘
whatis its efficiency : dkAjrkgbd dhferkg®
(1) 10% SR
(2) 25% (2) 25%
(3) 40% (3) 40%
(4) 50% (4) 50%
35. In an adiabatic change, the pressure P and | 35. :Y#eifjordgeqd ijeif od x6ddy, nicp rik
temperature T of a monoatomic gas are related rk Ted BU P oTC (_Zﬁ: ngkelu gxl%
by the relation P « T, where c equals :
(1) 5/3
(1) 5/3
2) 2/5 (2) 2/5
3) 3/5 (3} 3/5
(4) 52 (4) 5/2
SECTION-B SECTION-B
36. In a steady state of thermal conduction, | 35 mkmdﬂka\llvﬂﬂjlﬁjkrk 100°C , 0°C gﬂ;;fn

temperature of the ends A and B of a 20 cm long
rod are 100°C and 0°C respectively. What will be
the temperature of the rod at a pointata distance
of 6 cm from the end A of therod :

(1) -30°C
{2) 70°C
(3) 5C
(4) 10C

NMe hyEchizo em | ehgSlexedl jsa | s6 | ehd hrid
ij NMekrk gsi€o

(1
(2
3
(4

-30°C
70°C
5C

)
)
)
) 10°C




37.

38.

39.

Fourrods of silver, copper, brass and wood are of
same shape. They are heated together after
wrapping a paper on it, the paper will burn first
on:

(1) Silver

{2) Copper

(3) Brass

(4) Wood

In the given figure stress and strain curve is shown
of material A and B, then the correct option is (T,
and T, are the temperature of body):

Stress
rF 3
A
B
Sh?ain
(1) ¥.>VYs
(2) T,>T,
(3) T,>T,

(4) Both(1)and(3)

In a resonance tube, the firstresonance is obtained
when the level of water in the tube is at 16cm

from the open end. Neglecting end correction, the
next resonance will be obtained when the level
of water from the open end is :

(1) 24cm
(2) 32cm
(3) 48cm
(4) 64cm

A wave travelling along positive x-axis is given
by y =Asin{ot —kx) . Ifitis reflected from rigid

boundary such that 80% amplitude is reflected,
then equation of reflected wave is

(1) y=Asin(ot+kx)
(2) y=-0.8Asin({wt+kx)
(3) y =0.8Asin(ot +kx)

(4) y=Asin(ot+0.8 kx)

37.

38.

39.

| ek vidl oyhple} rigk i iy , oayd Miel hNME j
dik«t visdj ntdglokykesxedd; kt kkkdBlI d d gys

dit t yusyxsl€o

(1) phhij

(2) rigdj

(3) imyij

(4) ydNai

fiy sx; Spkearid @ vIBB dkifrcy rAkfolir

dkod fry kx; kabr id gnd Fa gsiedr, vIBT, oraglk
rk o

Stress
rF 3

Strain

(1) ¥i>Y,
(2) T,>T,
(3) T,>T,

(4) rigal) vis(3)

,d vugiuyhes Be vugh feyr kg3 ¢ uyhed kih
dkirj [ kgl jd st6ecm i j B | Gl dlaux. Mekaors
o vxykvugin t ¢ uyhes kihdklrj [ kgsfl jsl s
fdrunninj g

(1) 24cm

(2) 32¢cm

(3) 48cm

(4) 64cm

/ ulRed x-ri keeadreki rja y = Asin{ot - kx) Hik
iffiZdA;n,d n<fljd Hd idkijlofrE gshdS
fd 80% vkle dhijlorZ gskdBijlofrZ rjia dk
| eldj. kgglds

(1) y=Asin(ot+kx)
(2) y=-0.8Asin(ot+kx)
(3) y=0.8Asin(ot+kx)

4) y=Asin(ot+0.8 kx)




41,

42,

45.

The frequency of the first harmonic of a string
stretched between two points is 100 Hz. The
frequency of the third overtoneis :

{1) 200Hz
(2) 300Hz
(3) 400Hz
{4) 600Hz

A stretched wire of length 110 cm is divided into
three segments whose frequencies are in ratio

1:2: 3. Theirlengths musthe:
(1) 20cm; 30cm; 60 cm
(2) 60 cm; 30cm; 20 cm
(3) 60 cm; 20 cm; 30 cm
(4) 30 cm; 60cm; 20 cm

fn, n, N are the frequencies of segments
of a stretched string, the frequency n of the
composite string is given by

(1) n=n;+n, +n; +.......

(4) n=n Xn Xxn, X....

The equation of stationary wave along a stretched
string is given by y =5sin %cos40nt where

x and y are in centimetre and t in second. The
separation between two adjacent nodes is :

(1) 6cm
(2) 4cm
(3) 3cm
(4) 1.5cm

The number of beats produced per second by two
vibrations: x, =x, sin 646 ntand x, = x, sin 652 xt

4].

42,

43.

45,

risicl led sctp rusgn / ksdsi Ble gaiEd vioftk
100 Hz g5 Uh v/ Lojd dhvioflkg3o

(1) 200Hz
(2) 300Hz
(3) 400Hz
(4) 600Hz

»d ruhgohMhd hyEchid 10 em g8 g Mehrtu [ kNG
eadfir gshgSftudh vioilkladk vugk

1:2:3dBhbu [ kMed hyEckiAed kvudk dsi€o
(1) 20cm; 30cm; 60 cm
(2) 60 cm; 30cm; 20 cm
(3) 60cm; 20cm; 30 cm
(4) 30cm; 60cm; 20 cm

;mﬁlffugji\lﬂ‘dmld[kn,oﬂj d otk [ kN
dhviofk kn,, n,, n ... dbrisD ki ghg%o

(1) n=n,+n, +n; +.......

(2) n=n xn, xn; x.......

4 n=n,Xn,xn; X.....

,d rungghMehesnR W vixlehrja dkl eldj.k
y =55in%cos40nt B ; gx riky | svey ea
r ke | sl sMeaShigzielr fuli aled schp d hritngsi¥e
(1) 6cm

(2) 4cm

(3) 3ecm

(4) 1.5¢cm

nied B ulax, =x, sin 646 =t I Ak x, =x, sin 652 nt Hik
i fr | slsMnfk Ui foli Wisd hl &; kg3

(1) 2
(2) 3
(3) 4
(4) 6.




47,

49,

50.

An object is tied to a string of length | and is
revolved in a vertical circle at the minimum
velocity. When the object reaches the uppermost
point, the string breaks and itdescribes a parabolic
path as shown in the figure under the gravitational
force. The horizontal range AC in the plane of A
would be:

Vi

V. A C
(1) | (2) 2l
(3)v21 42421

Efflux velcoity does'tdepends upon:
(1) Density if only single liquid filled

(2) Density if two immisible liquid are filled
{3) Depth of orfice from free surface

{4) Both (1) and(2)

Motion under gravity of a particle is :
(1) auniform motion

(2) non-uniform motion

{3) may be uniform

(4) non-uniform accelerated motion

If an ideal liugid flows through horizontal pipe as
shown in figure (crossectional area of
B =crossectional areaof C)

|
SE0
1

9

(1) P.>P,>P, (2) P.>P_ >P,
(3) P.=P,>P, 4) V. >V, >V,
Starting from rest, a particle rotates in a circle of

radius R = /2 m with an angular accleration

a =(n/4) rad/s?. The magnitude of average velocity
of the particle over the time it rotates quarter circle
is:

(1) 1.5 m/s
(3) 1mfs

(2) 2m/s
4) 1.25m/s

46.

47.

48.

49,

,d orcdlsl yalbZd hNghl scifdlj Ywre ox |s
AélZj oR esigkkt kgt ¢ olr qfibr e fclig |

| g oS It kehofB, oaolr dpkean! IKZ v ublk
xgfoh cy dsv/huijoyfd iFij xfr djrhgB a

day ea{§t ijk Ac B

B v,
v, A €
(1) 1 (2) 2l
(3)21 (4221
cfd b ox fuHiZ ugadjrig 3o

(1) %R ij ;in,d e Hkds

(2) &Roij ;rsvie .k e Hikds

(3) Nedhre dhlod rg | sxghidj

(4) riglgl) vIi2)

fd1 hd . kd hxgRold "\akd sv/ lu xir %

(1) ,dl daxir &

(2) vieuxir &5

(3) ,dl duxfr gd drhdS

(4) vl euRir xfr &b

;n,d vidide fdl h{t ik es B dgdkdS
Eﬂikg)fp*@m dkvunk{ek @ =c dkvupk

—

= @

@

(1) P.>P,>P, 2 P.>P, >P,

(3) P.=P,>P, 4 V. >V, >V,

,d d.kilF§ volAkl R = 2 endhf-; kdsoR es
dishh Ry. ka = (=/4) j8VIu @ S| pyuki §Bkdjrk
S d pl8pDdj ddy; svier ox gek%

(1) 1.5 m/s (2) 2m/s

(3) 1 mfs (4) 1.25m/s




TOPIC : Full Syllabus (XI-M ODEL)

Atomic Masses : H=1, He=4, (=12, N=14, O=16, Na=23, Mg=24, P=31, 5=32, CI=33.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197

4

SECTION-A SECTION-A
51. For the reaction, 51. U]DS?T sx; sviHiZ kd sfy; S
1 1
5A2+532—>AB.AH:—50kcal %A2+%Bz->AB,AH:—50kcaI
If bond energies of A, B, and AB are respectively VXj A K AaB dh cU At kZ0e' Kk,
X, X/2 and x k cal, the value of x is : x/2 VB x @rls x dkek D kgsk%
(1) 50 (1) 5
(2) 100 (2) 100
(3) 200 (3) 200
{(4) 400. (4) 400.

52. Enthalpy of combustion of asubstanceis always : | 52. rgu ntiekdsfy; sufs ed sd 6 gesik! ghgBo
(1) >0 1) >0
2) >0 2) =0
3) <o (3) <0
(4) <o0. @) <0.

53. When acetone react with hydroxylamine then | 53. tC,flMs] gM¥ly , ehu |5Vﬂ'|@: kdjrkdsris
product (oxime) will form which will show vV Ibe nincurkgbris gfdl idl fd | elo; ork
isomerism : i o i djgk%

(1) Optical isomerism ) idki | do ark
(2) Geometrical isomerism 2) T Hefr: ldg ak
(3) Conformationalisomerism 3) /vid| do ark
(4) None of these 4) njler esdisdich
54. Maximum enol contentis in: 54. fdl edl d ST; kkbulvd KA g&k%
0 0 0 0 0 O
(1) )\ ) (1) )K 2)
0 0 O 0 0 0
(3) )KH 4) MH (3) )I\H (4) MH
55. TX/1 jRNVA K’ B u ggk™.

55. Glycerolis purified by : W led e gx °
(1) steam distillation ) Hih vicou
(2) vaccum distillation 2) fwdZ (B e vikou
(3) sublimation 3) middeu g k
(4)

simple distillation

(4) 1k kvitou




56.

57.

58.

If 0.2 g of an organic compound containing carbon,
hydrogen and oxygen on combustion yielded 0.147
g CO, and 0.12 g water. What will be the content
of oxygen in substance:

(1) 73.29%
(2) 78.45%
(3) 83.23%
(4) 89.50%

Strongestbaseis :

=
1

N
Je

3) Q
g
(4) @

;
!

The compound

X
O
is subjected to electrophilic substitution reaction

forintroduction of Z. The compound formed would
be:

(Where Xis an o-, p- directing group
and y isa m-directing group)

(4) BothBandC

56. ,d dk&d ; I&d d9.2xte dkrgudjud j 0.147

57.

58.

xie co, vipo.12xiet y i #ir gskgBdckd ; ixd
es/Vit udhi 'k eldkgsh%

(1} 73.29%
(2) 78.45%
(3} 83.23%
(4) 89.50%

izy {§ g%

(4)

& ==
I—=:
&

; &
A (t geldo- vIEp- furk | egig
@Y VIBY m — e | eych

dleufHd Lughi fr LAk U vHEZ, kd oy, z esfurkc
dj josofS I6d i #r g drkgSh




59. Propylbenzene reacts with bromine in presence of

61.

62.

light or heat to give

- CH,CH,CH,Br
(1)

~CH,CH,CHy
(2) -Br

~CH,-CH-CH
o TR

-CH-CH,CH,
o OF

Arrange the following carboxylic acids in the
decreasing order of their acidities.

1. PhCOOH

2. 0-0,NCzH,COOH

3. p-O.NC¢H,COOH

4, m-0;NC¢H,COOH

(1) 2>4>3>1

(2) 2>4>1>3

(3) 2>3>4>1

4) 1>2>3>4

Amongstthe following compounds, the optically
active alkane having lowest molecular mass is :
(1) n-butane

{2) Isopentane

{3) 3-methyl hexane

{4) 2-Cyclopropyl butane

A sealed tube which can withstand a pressure of
3 atmosphere is filled with air at 27°C and 760 mm
pressure. The temperature, at which the tube will
brust, will be :

(1) 381°C
(2) 627°C
(3) 452°C
{4) 1173°C

59. i By il b i 2 kk; kA"ekd hnflFfr escieu dd ik

61.

62.

2t kdjdsekg®%

- CH,CH,CH,Br
(1)

~CH,CH,CHy
(2) Br

~CH,-CH-CH
o L™

-CH-CH,CH,
o O

fuli d kil Hyd vEBy dlehd s soppsy Byrkd e
esQoflAe dit ; s%

1. PhCOOH

2. 0-0;NCgH,COOH
3. p-0:NCgH,COOH
4. m-ONC¢H,COOH
(1) 2>4>3>1

(2) 2>4>1>3

(3) 2>3>4>1

4 1>2>3>4
fUfl ; kdleed d e v. i dki dikky | 2h |, Yds:
g&k%

(1) n-Cla

(2) vid sl

(3) 3-efy Fr 8
(4) 2-1 kKDyldsly Cvia

,d clhuyht lefd 3 ok @iy nic cnit dj | drkgb
27°C , 0760 mm 1iC i j Ok d| sHiht kkhgArk |
ij uyhi @t kshgek%

(1) 381°C
(2) 627°C
(3} 452°C

(4) 1173°C




i

63.

65.

67.

A body of mass 10 mg is moving with a velocity of
100 m s-L. The wavelength of the de-Broglie wave
associated with it would be :

(1) 6.63x107"m
(2) 6.63x10%m
(3) 6.63x10%m
(4) 6.63x10%m

A mixture of gases contains H, and O, gases in
the ratio of 1:4 (w/w) what is the ratio of partial
pressure of two gases in the mixture:

(1) 16:1
2
3

)
) 2
)1
4) 4

(
(
(
The density of 3M solution of NaCl is 1.25 gmL™
calculate molality of the solution :

1
2
3
4

(1) 3

(2) 1.25m

(3) 2.79m

(4) 2

Nitric oxide reacts with bromine and give nitrosyl
bromide as per the reaction given below

2NO(qg) +Br, (g) —= 2NOBr(g)

when 0.087 mol of NO and 0.0437 mol of Br, are
mixed in a closed container at constant
temperature, 0.0518 mol of NOBr is obtained at
equilibrium. Calculate the equilibrium amount of
nitric oxide :

(1) 0.087 mol
{2) 0.0352 mol
(3) 0.0518 mol
(4) 0.0480 mol

The pKa value of weak acid HA is 4.80. The pK  of
a weak base, BOH is 4.78. The pH of an aqueous
solution atthe corresponding salt, BA, will be :

(1) 5.22
(2) 9.07
(3) 7.01
(4) 13.90

63.

65.

66.

67.

10 mg NP eku olyholr gdkox 100 m s-: g5 ksl dh
My hr j arS£igh%

(1) 6.63x107m

(2) 6.63x10'm

(3) 6.63x10*m

(4) 6.63x103m

,d xBh fg .kesgtds u, cav iV u X6 dkrn@ ek
VUK 1:4 (ww) 059 . kesxbledsviéid ric dk

vugk dek%
(1) 16:1
(2)2:1
(3)1:4
(4) 4:1
3M Nacl foy; u dkZuRo 1.25 gmL dbridoy; udh
elqyrkgxh%
(1) 3
) 1.25m
) 2.79m
(4) 2m
fURIV b viHZS keauloh8 v R IdVidssh | s/HEZ k
djdsukM y desviculc kaS

2NO(g) +Br, (g) == 2NOBr(g)

tc i rk ij 0.087 el NO V50.0437 el Br, dls
feyk kt kkdgS ld IE krolHki j 0.0518 €l NOBrcurk
dAl IE krolFki j uitiVel v R Vid heldkggho

(1) 0.087 mol

(2
3

(2) 0.0352 mol
(3} 0.0518 mol
(4} 0.0480 mol

ng¥ vEBy HA dkpka eki 4.80 ngy {I§ BOH dkpk,
eku 4.78 ¢Sl scusyo. kA dst yh foy; u dkpH
elu gek%

(1) 5.22
(2) 9.07
3y 7.01
(4) 13.90




69.

70.

71.

72,

The correct set of four quantum number for the
electron involved in Fe* to Fe** conversion :

(1) n=3,1=2, m=-2,5=-1/2
(2) n=4,1=0, m=0, $=-1/2
(3) n=3,1=0, m=0, 5=-1/2
{(4) n=4,1=2, m=-2,5=-1/2

The hydrated salt, Na,SO,.xH,0 undergoes 55.9%
loss in weighton heating and becomes anhydrous
the value of x will be :

Which can act as buffer:
(1) A mixture of acetic acid and sodium acetate

(2) A mixture of Ammonium chloride and ammonium
Hydroxide

(3) HCN +NaCN
(4) Allof these

N N N
10 ml - HC, 50 ml 7 H,SO, and 100 ml  HNO,

are mixed. The normality of the mixture of the
acidic solution is :

(1) 1/16

(2) 5/16

(3) 3/16

(4) 3/8

CH,CH,OH can be converted into CH,CHO by .........
(1) Pyridinium chlorochromate (PCC)

{2) Catalytic dehydrogenation

(3) Both

{4) None

68.

69.

70.

71.

72.

Fer| Fer i itj. kesHix yg gy d sy, plils
Dok | &; keled ki ghl & g%

(1) n=3,1=2, m=-2,5=1/2
(2) n=4,1=0, m=0, 5=-1/2
(3) n=3,1=0, m=0, 5=-1/2
(4} n=4,1=2, m=-2,5=-1/2

tyh yo.kNa,s0,xH,0 disxedjusij nfeki ea
55.9% i f'lkc dk{k gskdS ocayo.kit ¥h gd kk
B x dkeki ggk%

(1) 5
(2) 3

(3) 7

(4) 10

fURyT k esci Qfoy; u ggk%

1 1M vE vipl BMe , I W g .k

(2) velkr e Dylghvisvess e gVl Vg .k
(3) HCN +NaCN

(4) nnjler | Ho

N N N
10ml - HCl, 50 mlﬁnzsoavlﬁmo ml  HNO, dis

fef r fd; krisvEyh foy; udsfg . kd huegrkggh
(1) 1/16

(2) 5/16

(3) 3/16

(4) 3/8

CH,CH,0H dlscH,cHO ed fior £ fd; kt ki drkg®e
(1) i ki e Dylg€les/(PCC)

(2) nR§r NGVE uldlj. k

(3) nigls

(4) disdich




'/ lA / lA
CHCH, CH,CH,OH CHCH, CH,CH,OH
Jk T Tk T
In above reactions A, B, C respectively are : nnjlEr esA, B, ¢ O I€g&so
l. acid catalysed hydration I. vB nRi kgl
Il. HBO (Hydroboration) II. HBO (gh\&m

lll. oxymercuration - demercuration

. vidl hgD jeka &M D jieka

(1) linall cases (1) linall cases

(2) LIL1

(2} L
(3) 11,1 (3y 1, 1,1
(4 HLL (4) m,n
74. The IUPAC name of the compound 74. :I&d dkviZ wih, -1 hule ggk%
CH, CH,
CHy = CH - CHy = ¢ -CH; . ' CH, - CH- CH, - ¢ - CH,
OH H OH H
(1) 1,1-Dimethylbutane-1, 3-diol (1) 1, 1-MESyCvia1, 3-NGZRN
(2) 1, 3, 3-Trimethylpropane-1, 3-diol ) 1,3, 3_\m§li s, 3_Ntmy\[
(3) 2-Methylpentane-2, 4-diol (3) 2-eBibyi Bl 2, 4-NGZRN
(4) 1, 3, 3-Trimethyl-1, 3-propanediol @) 1,3, 3-\,{1@5/_1, 3 WW
75. Which is moststable carbocation : 75. fubl esd|f | d slAGA IclE sk u 5%
(1) /-}\N/\ (1) /+\N/\

[

H
& A & A~
A A~
|
)

|
H
(4) )\/\ (4) /K/\

+ +




76.

77.

78.

79,

80.

Which is a correct matching set:

Column| Column i
a. CH,COCH—>CHCHCH, p. Sodalime
b. CH,CHBr— CH,=CH,
c. CHCOOH—->CH,

d. CLHBr—>CH,

g. Na / dry ether
r. KOH (alc.)

s. Hl/red P

(1) a-p,b-s, c-q, d-r

(2) a-q,b-p, c-s, d-r

(3) a-s, b-r,c-p, d-q

{4) a-q, b-r,c-s,d-p

Which of the following has highest knocking
property :

{1) Aromatic hydrocarbons

(2) Olefins

(3) Branched chain paraffins

{(4) Straight chain parafifins

Which of the following are incorrect (regarding
oxidation number):

{1) Oxidation number of P in hypophosphorous acid
is+1

(2) Oxidation number of P in phosphorus acid is +3

(3) Oxidation number of P in pyrophosphoric acid is
+5

{4) Oxidation number of P in ortho-phosphoric acid is
+3

The oxidation number of S in Na,$ 0. is :

(1) +

(2) +2 and +3 (two S have + 2 and other two have +3).
(3) +2 and +3 (three S have +2 and one S has +3).

(

4) 45 and 0 (two S have +5 and the other two S have
0).

For a given mass of a gas, if pressure is reduced
to half and temperature is increased two times,
then the volume would become :

(1) v/
(2) 2v?
(3) 6V
(4) 4v

76.

77.

78.

79.

ULV ke LrEHisd i gir dit ;s

leg legn

a. CH,COCH,>CHCHCH, p.| B/He

b. CH,CHBr—CH,=CH, q.Na/'K{ bH{
¢. CHCOOH-CH, r. KOH (alc.)

d. CHBr>CH, s.HI/ Y/ P

(1} a-p, b-s, c-qg, d-r

(2) a-q,b-p, c-s, d-r

(3) a-s, b-r,c-p, d-q

(4) a-q,b-r,c-s,d-p

fuk esfd| edl d ST; kokvi Li &b xokggk%
1) ,jledd gvilicd
) VighQu
) ko [ kaki Fc@i
) 1A [ ki fc@
UV kc esd 161 kdFAa viE Idj. K B; kdsviK ki j
vIR g%
) b bRiG vE e dhvifd llj. ki b; k+1 g&h
) iQi@ vB e dhviEd ldj. ki B k+3 ggh
3) iHle®i Gd v e dhviEd [dlj. ki b; k+5 ggh
4) viBER §Gd vB e dhvib) [lj. K p; k+3 ggh
'Y Qdhvid [dj.kl &; kna,s,0, esggiA
(1) +2
2) R VIBB (2IYQ+2eh2 1Y Q +3 &
32 VB3 (3IMQ+2ehll¥+3 ek
(4)+5 VIBo (2 1Y Q+5 eh2 1M Qo eh

fd| hiry s a@eka dhxb eg nric viK kdj mevip
rk nggkdj rerlsvkru det ksk%

(1) v/a
(2) 2v?
(3) 6V

(4} 4v




81.

82.

83.

84.

85.

Greatest amount of energy involve in the
transformation of :

(1) Li*t> Li®+e
(2) K*>K+*+e

(3) Nat— Na®+e
(4) Ne —» Ne*+e

Generally, the first ionisation energy increases
along the third period. But there are some
exceptions, the exception is/are :

A.Pand S B. Na and Mg
C. Mg and Al D.Beand B
(1) A, C & D only

{2) A&C only

(3) A,B,C&D

(4) Only B

In an octahedral structure, the pair of d-orbitals
involved in d2sp? -hydridisation is

(1) d...d,

X

(2) dy.d

Yy
(3) d..d,
(4 d.d,
Which of the following statement is incorrect:

{1) Two nodal planes result when two wave functions
overlap axially in opposite phase.

(2) The shape of NH, molecule changes from
pyramidal to tetrahedral when itis bonded with BF |

(3) In O, molecule the formal charge on central oxygen
atom is +1

{(4) All of these

Some of the properties of two species NO; and
H,0* are described below. Which one of them is
correct

(1) Dissimilarin hybridization forthe central atom with
different structures

{2) lsostructural with same hybridization for the central
atom

(3) lsostructural with different hybridization for the
central atom

{4) Similar in hybridization for the central atom with
different structures

8l1.

82.

83.

85.

U/ ke I i fioZuld oz d At i EYagDh
(1} Li*—Li® +e

(2) Kf>K™*+e

(3) Na*— Na*+e

(4) Ne —» Net+e

| K k. k; ki Ble vk uu At I/ lor Zesc<shoSy&lu
diy vi ok gbbued i | kvi oo ok

A.PVIBS B. Na VIMg

C.Mg vibaAl D.Be VIFB

(1) A, C & D dey

(2) A&C dey

(3) A,B,C &D

(4) dsy B

,d v'*M Qdh | goukeaizsp: -l d p kesd-vicdy dk
dif | k; ¢ ggk%

(1) e dy

X

(2) dy.d.

(3) d..d,

(@) d_d,

fukl edl sdIf8 | kd Ba xyr g%

(1) tcnesi@kivih :i | tijini® evlg v6
djrsfs laieusy lya cursgs

(2) NH, g} wdhl foukfi jKeM | SARAl det kh
i c; gBF,dd Kkca adkkds

(3) 0, eyl weslBh vIEL lh uij | @2 pit Z1 gsk
o3

(4) njlEr | Ha

nd egsno; o H,0*dhd iyl xckuipsn, X, gduea
| sdi | kl ghgS%

(1) fofHk | ppukriedsl ke | jeklateds! ik Hi
ldj.k

2) e ijekkpsy, | ekl dj.kdd B d ok
3) e ijekkesy, fofHl | dj.kds Kkl & fpuk

) foHkli | ppuiviedsl ke ijekiatadsl Ikl ek
ldj.k




86.

87.

88.

89.

90.

91.

What will be the bond orderof N, Nand N, O bond
in nitrous oxide respectively :

(1) betweenland?2,2and3
(2) between2and3,1and3
(3) between2and3,1and?
(4) betweenland2,1and3
The five d-orbitals are designatedas d_,d , d

xy'yz! Vxz!
d..and d,..The shapes of four d-orbitals are
same. Then which one have different shape :

In PO *, the formal charge on each oxygen atom
and the P - O bond order respectively are :

1) -0.75,0.6
(2) -0.75,1.0
(3) -0.75,1.25
(4) -3,1.25

The correctorder of size among O, 0%, F and F- is

(1) 0* >0 >F >F
(2) 0>0*>F >F-
(3) O* >F >F >0
4) 0 >F->0 >F

Percentage of p-charactor in the orbital forming
P-P bond in P, molecule :

(1) 25%
(2) 50%
(3) 75%
{4) can'tpredict

On de electronation of nitric oxide, electron comes
outform:

(1) m2px
(2) m2px
{3) o 2px

(4) Noneofthese

86.

87.

89.

91.

U8 v RV IMesn, N VIEN, 0 cY dhd 8/ &€ 186
ggh%

(1) 1viB2, 2 vis3 dsdp

(2) 2 VI3, 1 vIB3 ddp

(3) 2 vIs3, 1 vis2 dscip

(4) 1V, 1vIiss dcip

i Kid-viody d, .d,, d,,, 9. VK5 d,. ed splf dh
vidir | ea gshgSdl dhvidir plild sHiui g%

(1) d,

(2) dye

(3) d

@ d,

Po>esvRiVuds Bel ijekldj | B vioskvip
P- odkcy di&/ e ¥gek%

(1) -0.75,0.6

X

(2) -0.75,1.0

(3) -0.75,1.25

(4) -3,1.25

0,07, F VISF-dsvidl§ dkl ghide %
(1) 02 >0>F >F

(2) 0>0%>F >F-

(3) 0 >F->F >0

4 0¥ >F >0 >F

P, V. lesP-P vich cukusolysviody esp-y{kkdk
i 'k gsi€o

(1) 25%

(2) 50%

(3) 75%

(4) Kk uchdj Idrs

uibvial v RV oVd sy 8 ud j . ki j 1 byBMRMud yrs
g%

(1) n2px

(2) m2px

(3) o 2px

(4) bued sdisd.gh
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92,

93.

94.

95,

96.

97.

The bleaching power of bleaching powder de-
creases with time due to :

(1) Stabilisation of clorine as CaOCland Ca(OCl),
(2) Stabilisation of clorine as CaOCland Ca(ClO,),
(3) Stabilisation of clorine as CaOCland Ca(ClO,),
(4) Stabilisation of clorine as CaCl, and Ca(CIO ),
Which is amphoteric in nature :

(1) sio,

(2) SnO,

(3) PbO,

(4) CO,

When sodium is treated with sufficient oxygen/
air, the product obtained is :

(1) NaO©
(2) Na,0,
(3) Nao,
(4) NaO

The weakestbase among NaOH, Ca(OH),, KOH and
Be(OH),is:

(1) NaOH
(2) Ca(OH),
(3) KOH
(4) Be(OH),

The correct order of increasing thermal stability
ofK,CO, MgCO,, CaCO,and BeCO,is:

(1) BeCO,<MgCO, <K,CO, <CaCo,

(2) BeCO,<MgCO,<CaC0,<K,CO,

(3) MgCO,<BeCO,<CaC0,<K,CO,

(4) K,CO,<MgCO,<CaCO, <BeCO,

Armrange the following in increasing order of Lewis
acid character :

a. BF, b. BCI,
c. BBr, d. Bl
1) a<b<c<d

2
3
4

(1)

(2) d<c<a<b
(3) a<d<b<c
(4)

d<c<b<a

92.

93.

95.

96.

97.

|l e dd Kk§lpa ikl dhfojad {er kWt ht kch
gD K %

(1) Dylgudkcaocivica(ocl), edHjdj.k
(2) Dylgudkcaocivifca(cio,), edifijhj.k
(3} Dylgudkcaoci vigca(cio,), edjtalj. k
(4) Dylgudkcacl, vifca(cio,), edifijialj. k
fURLfyfl k esdl 6 nik/ el d r dkgDh

(1) Sio,

(2) SnO,

(3) PbO,

(4) co,

tcliéveli; & vid b u vAokok d s/HEZ kdjrs
o5 lsnik kn curkg®%

(1) Na0
(2) Na,0,

(3) Nao,

(4) NaO

NaOH, Ca(OH),, KOH VISBe(OH), es 0¥ {§ %
(1) NaOH

(2) Ca(OH),

(3) KOH

(4) Be(OH),

K,C0,,MgCO,, CaCo, vifBeco, dhcathgaf kh
LA R dki ghiZe S

(1) BeCO,<MgCO,<K,CO,<CaCoO,

(2) BeCO,<MgCO,<CaCO,<K,CO,

(3) MgCO,<BeCO,<CaC0,<K,CO,

(4) K,CO,<MgCO,<CaC0, <BeCO,

fuRLfyfl kk disyd vBy dsc<tsgn @e esQoflbc
dit, %

b. BC,

d. B,

a<h<c<d

a<d<b<c

)

(2) d<c<a<b
)
) d<c<b<a
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98. Which of the following statement is correct for
orthoboric acid :

99,

100.

It can be prepared by acidifying an aqueous
solution of borax.

It has a layer structure in which planer BO,
units are jointed by H-bonding

Itis highly soluble in cold water
a,bandc

aandb

bandc

aandc

Correct order of thermal stability of following
compoundis:

(1)
(2
{3
(

)
)
4)

GeCl, <SiCl, <SnCl, <PhCl,
SiCl, <GeCl, <PbCl, <SnCl,
SiCl, <GeCl, <SnCl, <PbCl,
PbCl, <SnCl, <GeCl, <SiCl,

Which of the following statement is correct:

(4)

Fullerenes have dangling bonds
Fullerenes are cage-like molecules
Graphite is most pure form of carbon

Thermodynamically most stable allotropic
form of carbon is graphite.

i and i
i and iii
iiand iv

i, ii, iiiand iv

98. fURMYT k ed sdIf | kdFAu viEkEl§d vE dsy,
| ohgS%

a.

c.
(1)
(2)

;gckEll dg yh oy; udlevBldr djdscukk

t ki drkgA

;gijr 1 apukj[ kkaSt | esl ery Bo, bd iy RV
goMb U U Hkt b grhoA

;0 Bbdty esvf/ d foys 5

a, b Vi

a Vifsb

(3) bV
(4) a Vi
99. Ry k ; xdisd g kh LA dkl ghde gsk%
(1) GeCl,<SiCl,<SnCl,<PbCl,
(2) SiCl,<GeCl,<PbCl,<SnCl,
(3) SiCl,<GeCl,<SnCl, <PbCl,
(4) PbCl, <SnCl,<GeCl, <SiCl,
100. Uk esd 6 | kdAu IR g%%

i QU esMBylx U gekdS

i @§u dkv.lqd fiaMehrjgdgskds

iii. x8@V dicd dhl d s' RfavolAkgS
iv. xB@Vdldddkl cl A8k ufed yhl A/ j: i

98

(1) i vISi
(2) i VISiii
(3) i VIgv
(4) i, ii, il Vv



TOPIC : Full Syllabus [NCERT-1]
SECTION-A - [BOTANY]

SECTION-A- [BOTANY]

101. Which of the following containes the actual
account of habitat and distribution of plants of a
given area:

{1
(2
(3
(4

In which kingdom cell wall are absent:

) Fauna

) Flora

) Bothland2

) Monographs

102.
{1) Animalia
(2) Fungi
(3) Plantae
(4) Monera

103. In members of Phaeophyceae their body is

differentiated into holdfast, stipe, frond. What is
the function of holdfast and frond respectively

(1) Attachement, photosynthesis
(2

(3
(

4

)
) Photosynthesis, attachement
) Attachementonly

) Photosynthesis only

104. Which of the following is not a animal tissue
(1) Epithelial
(2
(3
(4) Neural

Which structure is not related to the excretion of
cockroach:

)
) Connective
)

Meristematic

105.

(1) Urecose gland
{2) Nephrocytes
(3) Fatbody
{4) Greengland
106. Which one of the following is the incorrect match
(1) C,plant Respond higher
temperature

{2) Photorespiration W astefull process

(3) C,plant 30 ATP used in calvin
cycle
{4) RUBISCO C, plant

101, U/ k esdiifdl higkd s IBle Aknhd ok Lkl
dsfo'k est kid §hrekg®%

(1) 1®K
2) Yyl
(3) 1VIB2 ngs
(4) elelgikQ
102. fdl t xr esd 6 Id kiHR hv ufibc gshgS%o
(1) ,Udfy; k
2) iQkZ
(3) lykeh
(4) ek
| Qls@ hdd ri; led K ] gSM@V] v rFiki @1
esoHBT gskaBgSNI@Y rAki Bd kd k Z22€' €65
(1) tikidkikaskk
(2) idkikarkk t bk
(3) dey tiyk
(4) dey idkkl aykk
104, fukl esl s 181 i ¥ k lgesi k kt kusoykArd ugaS
(1) nhdyk
) lash
(3) fo; lsd
4) rékk
di& | hl gpukdidjle daitdl d Y r ugdagSso
(1) ;jslls Xtk
(2) oodkiq
3) dHiM
(4) i x@bk
106. fURFyT ke ed sdif | hvugi rkxyr ¢S
(1) c,iki &  vid rkek dhvuig k
2) idkk'du & viQ; highk
3) c,iki & 30 ATP dBOU P ed 7ZI8
4) RUBISCO & c, iki

4

103.

105.




107.

108.

109.

110.

111,

Which one of the following is the correct match
a. Bolus I. Buccal cavity
Maltase

Oxyntic cell

b. Succusentericus |l
¢. Nucleases 1.
d. HCI Iv.
ya-IL,b-ll,c-1v,d-ll
ya-ILb-1V,c-lll,d-|
) a-Lb-IV,c-lll,d-l
ya-llLb-1V,c-1l,d-1
Which one of the following is the incorrect match:

Pancreatic juice

(1) Telophase -
{2) Cellplate -
{3) Cellplate -
{4) Anaphase -

Nucleolus appears
Porphyra

Seafan
Centromere split

How many are double membrane bounded
structure

Lysosome, Nucleoli, Microbodies, Vacuole,
Nucleus, Chloroplasts :

(1) 1
(2) 2
(3) 4
4) 3

Classification of amino acids are done on the basis
of:

(1) Position of hydroxyl group
(2) Position of carboxyl group
(3) Position of hydrogen

{4) Nature of R group

Which one of the following is correct match :

a. Reissners i. Cochlea
membrane

b. Blind spot ii. External ear

¢. Tympanic iii. Cornea
membrane

d. Sclera iv. Photoreceptorcells

absent
(1) a-i, b-iv, c-ii, d-iii
{2) a-iv, b-ii, c-i, d-iii

a-ii, b-i, c-ii, d-iv

a-i, b-iii, c-iv, d-ii

107.

108.

109,

110.

111,

a. Clyl 1. efkxgk

b. |Ddl ,04dl 1. ek\E

c. Uyhs . v diéldk
d. Hcl Iv. vXIKk

(1) a-Lb-1l,c-1v,d-1

(2) a-1,b-1v,c-lll,d-1

(3) a-1,b-1V,c-lll,d-N

(4) a-M,b-1V,c-1,d-1

fukfyf] k ed sl | hvugi rkxyr g%

(1) vBlkibk - disdkd ki Kitek
(2) digldkiVh - iE@k

(3) digkdkiWh - 1hi@

(4) i'plolbk - xckwkdcid kfd kN
fdruhl gouk srigj hi>¥yh SfkhdshoB

yld kle] dginl ebdski ] ob ly] dod ]
Dylgiy v

(1) 1

2) 2
(3) 4
(4) 3
fofy idlf dsvehla/Byladkoxidj. kv it r gekgdo
(1) g}y | egrd hflHr i j

@ didBly | egd HE i

(3) g u dhAB ij

(@) R | egydhiBlfr i

Ry k el s | hvugi rkl B o6

a. jitu Z>yh i. diy;k

b. vafclg ii. clgd.lZ

c. d.l&VSh iii. d MK

d. 'o5i W iv. idRkdghdiBldka
v uifHc

(1) a-i, b-iv, c-ii, d-iii
(2) a-iv, b-ii, ¢-i, d-iii
(3} a-ii, b-i, c-iii, d-iv
(4} a-i, b-iii, c-iv, d-ii




112,

113.

114,

115.

116.

Who among the following saw and described a
living cell first time :

(1) AntonVon Leeuwenhoek

(2) RobertBrown

(3) Matthias Schleiden

(4) Theodore Schwann

Golgi apparatus were observed by Camillo Golgi

in 1898. Which of the following is wrong statement
regarding it:

{1) Diameter of cisternae is 5 pmto 10 um

{2) The golgi cisternae are concentrically arranged near

the mitochendria
(3) Itis site of formation of glycoprotein and glycolipid
(4) Bothland?2

Which of the following option is incorrect:

(1) Imbibition is diffusion of water against the
concentration gradient

(2) W ater potential gradient between the absorbentand
the liquid imbibed is essential forimbibition

{3) Inhypotonic solution their is higher water potential
as compared to cytoplasm

{4) Absorption of water by seeds and dry wood is
example of imbibition.

Which one of the following is not a micronutrient
(1) Copper

{2) Molybdenum

(3) Magnesium

{4) Manganese

Essential elements that are component of energy
related chemical compounds in plants :

(1) Mg inchlorophyll

{2) PinATP

{3) Both(1)and(2)

{(4) Oxygen.

112,

113,

114.

115,

116.

fURLR/A ke ed sfdl ud gyhcl , d t Hor di§idkdis
bk, oamhdko. i fd; 16

(1), Weadk fyokidd

(2) jRVZLRo

(3) efki 'y

(4) FI§l'ck

xRlalk  nndj. kd leofeyleddt/husBO8 esv oyl r

fd; KAd | d EAY r fubifyfl k esd i | kd A v B

e

(1) l MehdkOk 5 eiddsly | SD etdiely gskaB

(2) xMvio§tih Maefy rodbvd @fids ik Qaflbc
dgssh

(3) xhtalk X7Hod lishetu o X/Modl i Muslded ki 2k
Ly o

(4) risig1) vis(2)

fURLfyf ke ed sdi | kfodYi vIR g%

(1) veYi&kk, d idk dkfd j.kdbD il ty dhxir

| legki & kekoSfai jin B

vo id rAkve%iti desokyaw didp t y foHb

inkkvid;d &

v jklHfoy; udkt y foHo v d dekg® cd dh
rgukdiSidk® | djras

vEYkko I TBr nnkj . Heesrh lav i1 by diMia
Ykt y dkvo ikkgh

fubfyf k ed sdi,d | e i ld udagS

(1) dlj

(2) eiicide

(3) eXifike

(4) Xl

viwlZrRot ld IbsdhAt iZd afir jl kfud ; Idls
ds®d g%

(1) i.lfr esRihlhe
(2) , Vinhes QM@

(3) nisigl) viB(2)

@) vi¥hu

(2)

(3)

(4)




117.0rganism normally aerobic but becomes
anaerobic in extreme conditions are called :

{1) Obligate aerobic

(2) Facultative aerobic
{3) Obligate anaerobic
(4) Facultative anaerobic.

118. At how many places in the kreb cycle is NAD*
reduced to NADH+H*, and FAD* reduced to FADH,,
respectively:

(1) One and three
(2) Three andone
(3) Twoandone
(4) Three and two

119. Residual volumeis :

(1) Greaterthan vital capacity

(2) Greaterthantidal volume

(3) Lesserthantidal volume

{4) Greaterthan inspiratory reserve volume

120. Which of the following are not a part of gastric

juice

(a) Pepsinogen
(b) Enterogastrone
(c) Gastric lipase
(d) Prorennin

(e} Amylase

(1) bande

(2) a,candd

(3) a,cande

{4) b,candd

121. The important muscle proteins that help in

movement are

{1) Actin and myosin
(2) Tropomyosin

{3) Troponin

{4) Allof these

117.

118.

119,

120.

121,

ost lo t ksl lel) r%v I hol u djrsdS j W gof KV
volFkvisesy uld h' ol u dj usyxrsosd gykesgdo

(1) viyhy,jled

2) i@y\VBb, jlikd
(3) VY, ukjid

(4) i @YWBo, Ukjld

o8 pd esde 1€4druslhku gesgS giNAD+ dk
NADH +H*+ esv SFAD+ dKFADH, €avi p; u gskdgb
e o

(1) ,d vipriu

 rhuvip,d

(3) nsvifs, d

4) rhuviprs

vof Vvkru g®o

(1) t 6 {lerkl sT; kk

(2) Togh vkrul sT; kk

(3) Togh vkrul gde

4) vUu%l ul ifflc vkrul sT; kk
fuRiesd i t Bj jlI dk,d Hk udagS
@ i8luks

() , Uistvs

) tBjylds

(d) B

(e) ,elyb

(1) bVvHee

(2) a, c Vi

(3) a, c Vie

(4) b, c Vid

osedRol v A t lexfr; leesl gsd dshda
(1) , D vIBeki8 u

(2) MViblekigu

(3) MblEu

4 mn; B | Ha
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122, The principal nitrogenous excretory compound in
humans is synthesised :

(1) Inkidneys buteliminated mostly through liver
{2) Inkidneys as well as eliminated by kidneys

{3) Inliver and also eliminated by the same through
bile

{(4) Inthe liver, buteliminated mostly through kidneys

123. Which of the following are the specific receptors

of the vestibular apparatus responsible for
maintenance of balance of the body and posture:

{1) Cristaand Organ of corti
{2) Macula and Organ of corti
{3) Organ of corti and Otolith
(4) Macula and Crista

124. Which one of the following are viviparous and

oviparous mammals respectively :
(1) Delphinus, Platypus

{2) Platypus, Pteropus

(3) Platypus, Panthera

{4) More than one option are correct

125. Assertion
ancestor of birds.

! Scientist believed that reptiles are

Reason : In birds scales are presenton Hind limb

(1) Both (A)and (R) are true but (R) is notthe correct
explanation of (A)

(2) (A)istrue but(R) is false
{3) (A)isfalse but(R)is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

126. Expanded petiole perform photosynthesis in :
(1) Onion

(2) Australian acacia

{3) Calotropis

(4) Alstonia

122, i epkubVE Ul NRt 71 e ed ayBk gskdb
(1) oOd esydluT; Ikj ; di dshikdg fd; ki kkdB
(2) dod eavIBl Hkghl HkoDd dshikckj dskd
(3) ;dr ed a/Blc dskdisclby dsiikdg dskdB
4) ;dr ed ayble gskgSyBlu T, kkj ol dshik

dg dskef

123. fURIYA k ed <d 16 obME wj rUkd Sof RV xighdss
g Is kip dd Wgu o | ghilbfr dsy, njrk hdss
(0377
(1) fAkvibvkid v QiREZ
(2) €8 vkvibvkd vikQl MEZ
(3) Vi v Ik Qd RABA/ IS v ey Fc
(4) B ykvisiaik

124, UBY k ead|E | sfoohf vib viehf Lru kh

' &eS%

(1) MAQ ] lyshl

(2) lysnl ] \isl

(3) lysnl ]iBgk

(4) ,d |sT; kkiod¥ | gh

dAu: oBkKud ledkio' ot ¢Sd | jhi i {leds oF

B

di ki {tleesddd i'pikij i kkt kkoB

(1) (A) VIS(R) nsld chaS&lu (R) | hOk; kudads
(A) dk

2) (A) I cha¥/u R) xyr &

(3) (A) Xyr /BluR) | hdS

(@) (A) VIBR) risld ghaVIBR) | 0K ; kefia) dk
i .1dh i §dj fdl es Akl syskdjrkg

1 Lk

2) vig; uvdb; k

(3) Ak

(4) , Y& k

125,

126,




127,

128.

129,

130.

131,

Which of the following phases of the cell cycle is
not a part of interphase:

() S
@ G,
3) G
4 M

2

The first stable product of Calvin cycle and Hatch
and Slack cycle are:

{1) 4-C and 3-C compound
{2) 4-C and 6-C compound
{3) 3-C and 4-C compound
{4) 5-C and 4-C compound

A layer of alimentary canal forms irregular folds
in different part what is the name of layer and
their irregular folds respectively :

a. Sub Mucosa, Rugaein stomach
b. Mucosa, villiin stomach
¢. Mucosa, Rugaeinstomach

d. Mucosa, villi in intestine

What is the correct sequence of organisation of
skeletal muscles :

Myofibrils — Muscle fibre — Fascicles — Skeletal
muscle

Myofibrils — Fascicles — Muscle fibre — Skeletal
muscle

Muscle fibre — Myofibrils — Fascicles — Skeletal
muscles

Myofibrils — Fascicles — Skeletal muscles —
Muscle fibre.

In most higher plants, the growing apical bud
inhibits the growth of the axillary buds. This
phenomenon is known as:

(1) Lateraldominance
(2
(3
(4

) Parthenocarpy
) Apicaldominance
)

Lodging

127,

128.

129,

130.

131.

digldkp@dhdi€ | hi iolAkbYi @ d kHk« ugaSo
(1) S

(2) G,

@3} G,

(4) M

dfou pd visdp viElys p@dki Ble LAk hnit in
gek

(1) 4-c viB3-C ; I&d

(2) 4-C vifs-C ; ixd

(3) 3-C viu-c ; iixd

(4) 5-C vi|-C ; iixd

vidgk Uy dh,d ijr oy; vyx&vyx Hik esculk hgB
b ijr visd | scuusolysoy; dkde' €8 kue g%
a. | CE oK j; whvickk ea

. Edikd vdpviekk ea

. EdibRj; whviekk ea

d. Edikl vdfvla ea

o

2]

(1) ¢ d

(2) dey d

(3) a,d

(4) b,d

ddly i fklsdd & dkl ghde D kaSh

1) iskirg - iskhrag - ifydliks
- ddly i Shk

) iskarg - ifydwls - iskhraqg
- ddly i dhk

(3)iSIhraq — iSRITd - ifydk”G
- ddly ighk

(4) istnrd - itydkils — ddly i8hk
— i hreq

v diknfib i ki keesofvad jrhv xifkd fyd kd {kFk
dfy; ledhof/adlg ldrhgdd dkd lsd grsg®

(1) ikadzkIrk
(2) viuldiQu
(3) Tk £kirk
(4) yhha




132,

Which is a correct matching set:

Column| Column i
a. Gonadocorticoids i. Posteriorpituitary
b. Melatonin ii. Anterior pituitary
c. PRL iii. Adrenal cortex
d. Vasopressin iv. Pineal gland

a-iii, b-iv, c-ii, d-i
a-iii, b-iv, ¢-i, d-ii
a-iii, b-i, c-ii, d-iv

(4)

a-i, b-iv, c-ii, d-iii

133. The correct route through which pulse making

134,

135,

impulse travels in the heartis :

{1) SA Node — Purkinje fiber - Bundle of his — AV
node — Heart muscle

SA Node — AV node — Bundle of his — Purkinje
fiber » Heart muscle

AV node — Bundle of his — SA Node — Purkinje
fiber - Heart muscle

AV node — SA Node — Purkinje fiber —» Bundle of
his —» Heart muscle

Myelin sheath is produced by :
(1) astrocytes and Schwann cells
(2)
(3)
(4)
In six kingdom classifications which kingdom is
divided into two domains :

oligodendrocytes and osteoclasts
osteoclasts and astrocytes

Schwann cells and oligodendrocytes

(1) Protista
(2) Monera
(3) Fungi

(4) Plantae
SECTION-B - [BOTANY]

132,

133,

134,

135,

fuk edl 16 | &y g%

| pl& | pl&u
a. Xief ki - i i'pfiViygh
b. eyli&u ii. VA Viyfh
c. PRL iii. , Muy dRiR&l
d. oblsthu iv. i1y xdbk
(1) a-iii, b-iv, c-ii, d-i

(2) a-iii, b-iv, c-i, d-ii

(3) a-iii, b-i, c-ii, d-iv

(4) a-i, b-iv, c-ii, d-iii

| ghi Fkd I | kBt | dsHkuitvili au d lscuke hoty?

any eg kkdjrhda

(1) SAN > iffdbgegfd d-avNn - an ish

(2) SAN >AVN »fd dMW - ifdageg> an idh

(3) AVN »fd cBy—SANiffdagegan ish

(4) AVN - SAN - iffdasrag>d db - an
igh

ek fyu vigj. kd kfueldgis kg

(1), vV VIR ' ok digid krled sk

(2) Vs sBkV viBvIBAIB/RY Hik

(3) VIAhIBYRV vIB, MBIV Hik

(4) ' ck difld kvla/iB v/ xBIDV Hik

N6 xr oxij. ki Vir ead I | 5d xbé dleidVieS ea

clelex; kAk%

(1) 1Bk
(2) ek
3) i RkZ
(4) lyhh
SECTION-B - [BOTANY]

136.

In the given below examples. How many are viral
diseases in animals :

Common cold, mumps, small pox, typhoid,
cholera, influenza, herpes, tetanus, AIDS

(1) 6
(2
(3
(

)5
) 4
4) 3

136.

Uiy 5 g . heedl Sdrusol tfur jlg t Wyle
esfAt dle] efil ] ppd] ki @M dkyjK bryya K
g ] \a ], M-

(1) 6
(2) 5
(3) 4
(4) 3




137,

138.

139,

The Exocoetus and Scoliodon are respectively :
(1) Unisexual, Unisexual

(2) Bisexual, Bisexual

(3) Unisexual, Bisexual

(4) Bisexual, Unisexual

Which of the following are correct for the given
floral diagram of plant

(a) Present in Solanaceae
(b) Epiphyllous condition

{c) Related with gloriosa

(d) Bisexual, zygomorphic
(e} Unisexual, Actinomorphic
(1) b, c

(2) a, b, c,d

(3) b,c,d

(4) b, c, e

Which of the following will occur during
chemiosmosis :

(a) Decrease of protons in stroma
(b) Decreasein pHin stroma

(c) Conformational change of F, portion of ATP
synthase

(d) Conformational change of F portion of ATP
synthase

(e) Facilitated diffusion of protons
(1) a,c,e

(2) a,b, ¢

(3) d e

(4) b, d, e

137. , 0 M vIBLd I8 18k O’ 1665/
(1) ,dfya},dfyzh
(2) fifysh fifyzh
(3) ,dfyal} fiyah
4) fHyah , dfysh
138. fuRLfyf k ed sdi [ ki sx; silbsdsif fpskdsy, |ched

(a) | lgsbheanflAr

b) b i Gyl volBAk

() X§vikk d EfUr
(d) fHyal,dOKI efer
(e) ,d fyah}, DiulEen@

(1) b, ¢

(2) a,b,c,d
(3) bc,d
(4) b,c, e

139, fURIYT i esD) kgskgBdeviead | dsifiu %
(a) L\Viskes tu de gsk
(b) \iskespH dkde dek
() ,Vihil W6 d<F,Hk dK ai . kenyuk
d) , Vhihil Bié dss, Hik dkl ai . kenyuk
(e) iudki gie f j.k
(1) a, ¢ e
(2) a b, c
(3) d, e

(4) b, d, e




140.

141,

142,

143,

144,

If glucose molecule has 20000 calories energy, how
much energy will be remain unutilized if lactic
acid or alcohol fermentation from glucose taken
place

(1) Nearly 18600 calories
(2) Lessthan 1400 calories
(3) 20000 calories

(4) 17600 calories

Which of the following setis wrong
(a) Acetyl Co-A - 2C
(b) Citric acid - 4C
(¢) o-ketoglutaric acid - 5C
(d) Succinic acid - 4C
(1) b

(2) a,b

(3) a, ¢

4) c

During seed germination its stored food is
mobilized by:

{1) Cytokinin
(2) ABA

(3) Gibberellin
{4) Ethylene

The exchange of 0, with CO, by simple diffusion
over their entire body surface occurs in

(1)
(2)

Higherinvertebrates like sponges, flatworms

Higher invertebrates like sponges, flatworms,
coelenterates

(3) Lower invertebrates like sponges, flatworms,

coelenterates
(4)

Which type of curve is obtained when percentage
saturation of haemoglobin with oxygen is plotted
against the pO,:

(1) Linear
{2) Sigmoid

Lower invertebrates like sponges only

{3) Hyperbola
{4) )-shaped

140.

141,

142,

143,

144,

vxj Xaib v. kps20000 d SighAt K&r loydis ds
yW vB vAk, Ydlgy fd.ou dsi'pk~druh
At i z&r cpgh

(1) yxHk 18600 d$ih

(2) 1400 d$lghl sde

(3) 20000 dgih

(4) 17600 d$lgh

fuki ed sdiE 1 kI ¥ VIR %

@) .| Mby disblbe, - 2c¢

b) | V8 vBy - 4c

(c) a-dM&/Wd VB -5¢C

@) |OHd vBy - 4c

(1) b

(2) ab

(3) a, ¢

(4) c

ci vepkdsifa | of, r His ufdl dsHikxeudjrk
S

(1) | iovd i

() ,h-

(3) ftCiyu

(4) , oyl

o0,dkco,dd kvicuSi g | i I kol j. kdsHiki ¢5
'k dhl rgij ikkt kkgS%

(1) nip vd'lsd tEsd Liki ] pi\EHfe

(2) nib vd'lsd tBsfd Likdi ] pi \Efe] | lys\®
(3) fulivd'lsd t Esfd Li i ] pi \ATe] fl ysBk
(4) fulivd'lsd tBsfd dey Lild

fdl idk dkodilr gskt c geiylstu dhifr'k
| rirkviVi udd Kkpo, dd kdkviyg ke fd; kx; k
ds:

(1) jb

(2) 16kM

(3) ghjdgk

(4) J-vidk dk




145,

146.

147.

148,

How many matching are correct:
a. Hypertension - 160/90 mm Hg
b. Stroke volume - 170 ml of Blood
¢. Duration of a cardiac- 0.08 second
cycle
d. Cardiac output - 5000 ml
1) 4
(2) 3
(3) 2
4 1

In the given below example how many are
peptide and steroidal hormone respectively -

Progesterone, ANF, GIP, Cortisol, CCK, Gastrin,
Androgens, Aldosterone, Glucagon

(1) 5.4

How many matching are correct :
(a) Nitrogen - Nucleic acids

(b) Phosphorus - Nucleic acids

{c) Calcium - Mitotic spindle
{(d) Sulphur - Ferredoxin

(1) 3 (2) 4

(3) 2 4) 1

Read the given name carefully

Ustilago, Puccinia, Neurospora, Claviceps,
Aspergillus, Trichoderma.

How many fungi is/are imperfect

145,

146.

147,

148.

fdruhvugirkl R %

a. virruo - 160/90 mm Hg
b. iBlgvkru - 170feyhjDr
c. anpddhvadf - 0.08| dsM
d. anfudk - 5000 feyh
(1) 4

(2) 3

(3) 2

(4) 1

ulpsin s; snnigj . ksesl sfdrusi SMIv S LV W
deld ¢ 165%

| # BVEka] ANF, GIP, d fidy, cck, xBAu] , U U]
» YNRVERAY Xrabkedl/
(1) 5 4

(2) 4,5

(3) 6 3

(@) 7,2
fdruhvugirkl R g%
(a) URMEU

(b) | G -
) d¥ke -
d IMQ -
(1) 3

&
&
=}
<
&

(3) 2
iy sx; sule did kof kihi o | <dA

vitysig i 1 fu; B Ujik I Dysths] |, Lijft yl ]
\VRod 147

fdrusviviod g%
(1) 3

3y 1




149,

150,

Match the fc;llowing Columns :
Column| Column i

a. Adenine derivative i. Ethylene

b. Terpenes ii. Gibberellic acid
derivatives

¢. Gaseous hormone iii. Kinetin

d. Carotenoide derivative iv. Abscisic acid

a-i, b-ii, c-iii, d-iv

a-i, b-iii, c-ii, d-iv

a-ii, b-i, c-iii, d-iv

a-iii, b-ii, c-i, d-iv

Respiratory climactic effect is shown by which

PGR:

(1) Abscisic acid

(2) Auxin

(3) Gibberellin

{(4) Ethylene
SECTION-A - [ZOOLOGY]

151.

152,

Read carefully and choose the correct statement.

(1) The juxta-medullary nephrons have small Henle's
loop

(2) The PCT and DCT are situated in the medulla part
of the kidney

{3) The glomerulus encloses the Bowman's capsule

{4) The ascending limb of Henle's loop extends as the
DCT

A person in your home suddenly feel earthquakes
then whatis the immediate condition in the body:

a. Glycogenolysis

b. Glycogenesis

c. Breakdown oflipids and proteins

d. Decrease the strength of heart contraction
(1) a, c

a,d

Onlya

(4) b, c

149,

150.

fubLifyf k LrBHisdld gfyr dit , %

LrEH& Lr B8
a. ,8lluQW i. Aoyl
b. MEAQ W ii. ftogyd vy

c. xbh gel& iii. dHouBl

d. dpdUlbMdkQW iv. ,cifid vB
(1)
(2)
(3) a-ii, b-i, c-iii, d-iv

a-i, b-ii, c-iii, d-iv

a-i, b-iii, c-ii, d-iv

(4) a-iii, b-ii, c-i, d-iv

‘ol uh Dyl i Hofd| i K bl Yiki of 2 gsk
oo

(1) ,sfifid vB

(2) v u

(3) tCiyu
(4) , Aoyl

SECTION-A - [ZOOLOGY]

151.

152,

| lof kahi o i f<stsv | ghd Au ply; s%

(1) t O &l hub®n esNisk gy syivgskda
(2) i hivhwIiBMhivhaDd d seisfiktHie edfilfic gshcB

(3) ¥lssyl dsvUj desi| By gskdB

(4) calysyiwd hv idghHb kb ivhrd gshd

,d Ofr vi sk eddt dkvpkad vubo djrkaB
rc nhds ki esrRily D kvolAkggh%

a. Xlodig us |

b. Xkdissf |

c. fyfi Mvibi ifu d kfou

ary | dgu dh{lerk®ik

(1) a, c

2) a, d

(3) dey a

o

(4} b, c




153.

154,

155.

156.

157.

Which one of the following is the incorrect match
{1) Hyperthyroidism Graves disease

{2) Hypothyroidism Goitre
{3) Thymosine CMI
{4) Thyroid gland Thymosine

The multipolar neuron's contains :

(1) One axon and two or more dendrites
(2)
(3)
(4)

In laboratory there are three sample of brain

which are placed for study. These samples are X,
Y, Z.

¢ InsampleX,Y, Z 12 pair cranial nerves occurs.

Many axon and one dendrite
Many axon and two or more dendrites
One axon and one dendrites

* InsampleZ corpus callosum occurs.

What is the correct conclusion for these brain
samples -

a. X, Y brain sample may be of reptiles and birds
brain.

b. X, Y brain sample may be of amphibian,
reptiles, birds brain.

¢. Z brain sample surely only mammalian brain.

d. Z brain sample may be of birds or mammalian
brain.

(1) a,b, c

(2) a, c

(3) a, b

(4) Onlyd

The junction between a motor neuron and the
sarcolemma of the muscle fibre is called the

{1) Sensoryend plate
(2

(3
(

4

A band

)

) Motorend plate
)

) I band

Which is a correct statement

(a) Fibrinogen helps in maintenance of osmotic
pressure

(b) Glucoseis absentin plasma
{c) Serumdoes notclot

(d) Lymph is a connective tissue
(1) a&b

(2) b&c
(3) c&d
(4) a&d

153,

154,

155. |

156.

157.

fuklfyf k ed sdi& | hvugi rkxyr g
(1) g jHkg kiNTe & xd fodih
(2) dhi I8k lNTle & xyx.M
3) Adbhu & oMl

(4) At HolvixikBie & Hiodbh

cohmh Ui kkgS%

) ,d , D viBrisvAckvi d NDRV
2 dbZ0 kivig, d NORY
(3) dbzD ki viBrisvAokv d NIV
@ ,d,DkviB,d NV

i zI&' Kykear i uewssfir'd dsve ;uddy, jllss
B ; suevsX, Y, Z ga

« ueusx, Y, z | Hoes2t I8di by dhul g kkx; k
« uewxz esdkEd§lbeikkx; k
Sugh s sfir'd duewd D ki ghfu'd"ldud yrk

y efir'd dkuenk jhi vifi {hisdkgd drk
r%gd dkueaknik pj11jthi1i {alsdkds
c. zefr'd dkuekiidsgdsy Iry kd keflr'd
d. zefir'd dkueuki {falevAokir o/ lihdkagd drk

‘&?‘

b. X,

‘&

‘&

1) a, b, ¢
(2) a, c
(3) a,b
(4) deyd
iBd rékd vipish jskdd Idigekd<ip | § dlis
dgsih
(1) leshvB ik
(2) ifd vB ik
3) AiWh
4 11Vh
di@lkdARul R g%
(a) i@fcalb uijij. K nic didu; gk djrkgs
(b) Xavis lydekessugfibc oS
() | het erkugadS
@) yl ik, d | a6 hArd oS
(1) aVvifo
(2) b vk
(3) c vifd
(4) aVid




158. Which excretory structures are found in
cephalochordate :

{1) Urecose gland
(2) Kidney
(3) Protonephridia

{4) Antennalgland

159. Which one of the following statements are correct

with reference to given diagram of different plants:

(ii)

a. All given plantare cryptogams
b. All given plant are same type of life cycle
pattern

c. All given plant are produced motile male
gamete

d. All given plants are containes chlorophyll a
(1) a,d
(2) ¢, d
3) a,b,d
(4) Onlyd
160. Which one of the following statements are correct

(1) Sequoia is one of the tallest tree species of
pteridophytes

{2) Mycorrhiza are association of Amensalism
(3) Coralloid roots of cycas are symbiotic association

(4) All of these

158. fl i @lel R esd 18 | hnR t [ fouki k ht khgS
(1) ;s xihkk
() ood
(3) vinoDdd

4) , Wy Jibik
fURIVT k esd 16 | kd Fafry s¢; 9 iBled Spkdd WHE
esR g%

159,

(ii)

a. | Hhinp o s isidvigl B

b. | Hefry ¢ < lsedl el 2l dt loup@ dkrjlak
dska

c. | Hofry 5¢ 5 By y Uj x@vi-nik U djr <

d. |Hofysx; S BDyIHEQ a j[ kol

(1) a, d

(3) a, b, d

(4) deyd

fuRiiyf k esdiS| kdFu | B g%

(1) fl disk\iMs@\M~dhl d sykotkdht ir ¢S

(2) dod ew(dbdigt K , e fi/Te dkt b S

(3) igy eyw(digghdvE NH tod| dii &; A t b S
4) ;9 Hh

160.




161,

162,

163.

164.

In the given below example. How many plants
are phanerogams

Spirogyra, Sargassum, Fern, Funaria, Cycas,
Pinus, Volvox, Adiantum, Salvinia, Equisetum,
Ginkgo, Psilotum

(1) 9
(2) 3
(3) 4
(4) 5

Monocotyledonous, Muscidae and Angiospermae
are respectively :

(1) Class, Family, Phylum
{2) Class, Family, Division
{3) Family, Class, Phylum

(4) Division, Family,Class

Which is a comrect matching set:
Column Columnli

(a) Outer ear joint (i) Involuntary

(b) Blood formation (i) Voluntary

(c) Biceps

(d) Cardiac

(1) a-iii, b-iv, c-ii, d-i
{2) a-iv, b-iii, c-i, d-ii
(3) a-iv, b-ii, c-iii, d-i

(4) a-iii, b-iv, c-i, d-ii

(iii) Cartilage

(iv) Bone mamrow

Match the following and choose the correct
combination from the option given below

Column - | Column -1l
{Organic compound)
(a) Fatty acid

(b) Phospholipid

(Example)

(i) Glutamic acid
(i) Tryptophan
{c) Aromatic amino acid (iii) Lecithin

(d) Acidic amino acid (iv) Palmitic acid
(1) a-i, b-ii, c-iii, d-iv

(2) a-ii, b-iii, c-iv, d-i

(3) a-iv, b-iii, c-ii, d-i

{4) a-iii, b-iv, c-i, d-ii

161.

162.

163.

164.

Upsiy sx; sl . keesfd rusi 165 Qg8 oS

Li b R 1 k] | QY- wa; R 1 fod | 1i Kol ] oG ]
, MhWe] | RoH; B BDoh Ive] fxd aig | oy ise

(1) 9

(2) 3

(3) 4

4) 5

elais! Mty Ml 1 ell M, oa il ; i elZe 106J6 oo
(1) Dyk ] i @yhi @ye

(2) Dylt]i@eyri\dtu
(3) 1@yl Dylk]i@ye
(4) fi\dtt uli @yH Dyk

fuRl esd I8 | kfeyki | R ¢9%
Lr B Lr B
(@ db~d.KdY (i) vuihd
(b) jDr fuekd (i) , iNd
) fidk (iii) nnkLEk
(d) an v) Vet k

(1} a-iii, b-iv, c-ii, d-i
(2) a-iv, b-iii, c-i, d-ii
(3) a-iv, b-ii, c-iii, d-i

(4} a-iii, b-iv, c-i, d-ii

updiy sdkye disfeyidj | ghfodY ply, %
dié -1 dié-u

(didtd ; ixd) (nnigj . K

(@) ol h vBy 0 Xuied vE

(b) | @i @/fi M (i) VAR

() ,jleB vehls/By (iii) y§ Fiol

d) VE/h vehisvBy  (iv) | ke VB

(1} a-i, b-ii, c-iii, d-iv
(2} a-ii, b-iii, c-iv, d-i
(3) a-iv, b-iii, c-ii, d-i
(4) a-iii, b-iv, c-i, d-ii




165.

166.

167.

Select the correct option with reference to
enzyme:

i. Holoenzyme = Apoenzyme + Co-factor

ii. Holoenzyme = Apoenzyme + Co-enzyme

iii. Holoenzyme = Apoenzyme + Metal ions

iv. Holoenzyme =Apoenzyme +Prosthetic group
(i) is false but {ii} is true

(i} and (ii) are false but (iii) and (iv) are true

(i), (ii) and (iii) are false but (iv) are true

All are correct

Assertion : In Humans due to non functioning of
parietal or oxyntic cell protein digestion effected.

Reason : Parietal cell or oxyntic cell secretes HCI

thatare necessory for conversion of pepsinogen

to pepsin.

(1) Both (A)and (R) are true but (R) is notthe correct
explanation of (A)

(2) (A)istrue but(R)is false

(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

In the given below diagram how many structure
are modification of Tap root:

165.

166.

167.

, albe dd aHsd I8 | kfodYi | B g%
i. dylsaloe=,ilshle+|gdid

ii. gylshloe=,ilshke+1g,bke
iii. gylshloe=,ilsaloe+/kaku

iv. dylshle=,ilsalbe+iHdd | ey

(1) () vIR /Eui) IR b
(2) (i) v v B ol ugiii) and (iv) | R 5

(3) (i), (i) vl vI R oidu(iv) B o5

(4) njler IHIR &5

dRu: et eal gy vAckvI iMal dIgkdkds
viig Kity gesd . ki #fu dki lpu | Héor gskdB
dl.k i &y vAokv D lMd digldkHcl dK fo.k
djrhdt ks iH hulé 5 dsi # lu escnyusdsfy,

vio';d d8

) (A )vlfs R) nisd chd¥/&lu (r) | QK ; kudads
(A) d

A)Ig‘ngﬁ/ﬁjum ) Xyr &5

(3) (A) xyr gyEuR) | chds

(4) (A) vIBR) neld gV IBR) | gQIK; kd3a) dk

utpsfry sx; sfpeeal sfdruhl gouk elwyk t Midk
Li k). kg%




168.

169.

170.

171.

172,

173,

Which one of the following is the correct statement
(1)
(2)
(3)

{(4) Ploidy of antipodal cell and vegetative cell are
similar

Vegetative cell present in embryosac
Generative cell presentin embryosac

Only diploid nuclei are presentin embryosac

Which one of the following is the incorrect match
(1) PEM Marasmus

(2) PEM Kwashiorkar

(3) Vomitcentre Cerebellum

{4) ) aundice Bile pigments

Which one of the following is the correct match
(1) Total fore limbs bone 50
(2) Totalhindlimbs bone - 55

(3) Coxalbone Axial skeleton

(4) Scapula Pectoral girdle

Which among the following is not a prokaryotic
cell:

(1) Bacteria

{2) Blue greenalgae

(3) Mycoplasma

(4) Yeast

Class of enzymes contained in lysosome:
(1) Lyases

(2) Ligases

{3) Hydrolases

(4) Transferases.

Tonoplast is differentially permeable membrane

surrounding the :
(1) Mitochondria
{2) Cytoplasm
(3) Vacuole

(4) Nucleus

168. fuRyf k ed sd I8 | kd Fa | ghdB
(1) did digldkHidd &es kht kkhdS
(2) tuwi disldkHed ikes kht khds

)
(3) dey Nk M) Byt Kikidd Bked k kt keko
(4) dif d disldkvip, Mlsy disidkdhiyk Mi ek
169. quJgffxsﬁI( ed dI6 | hvugi rkxyr g8
(1) PEM & gld
(2) PEM & Do wigdj
(3) ceudile & vugle'd
(4) ifiy;k & fikold
170. fUBLV k ed sdiE | hvugi rkl chgB
(1) dg vxiha viik & 50
2) dgi'pikviitk & 55
(3) J Bkviik & vih ddly
4) ldBgk & vh ek
| 171, fuRlifyf k ed I 1 h d i 1€%; 8d d € ldkudag3o
(1) thakiq
(2 Uyhgh'lely
(3) elod ls/Kek
(4) ;HhV
172. yid lble edfufgr , & baled koxgSo
(1) ykbb
(2) yKodb
(3) B
4) Wi (E6
173. MsityitV, d foHed i §xE >Yyhobt i fd| disiss
gaddo
(1) | vdfidk
(2) disldkre)
(3) jl/kh
(4) UtiHd




174,

175,

176.

177.

178.

The splitting of the centromere of each
chromosome occur:

{1) Telophase|
(2
(3
(4

) Anaphase |
) Anaphaselll
) Metaphasell

Which is a correct statement:

(a) AV node is called as pace maker

(b) Atrial systole causes 30% ventricular filling
{c) Cardiac output depends on ventricular filling

(d) Blood pumped during a cardiac cycle is
cardiac output

(1) a&b
2) b&c
(3) c&d
(4) a&d
Whatis/are most correct regarding reaction centre

{1) Reaction centre is single chlorophyll 'a' molecule

(2) The reaction centre is different in both
photosystems

(3) Reaction centre is formed by accessory pigments
(4) Bothland?2

Which statementis correct:

(1)
(2)

Squamous epithelium are found in fallopian tube

Two types of cell junctions are found in the epithe-
lium and other tissues

(3) Neural tissue exerts the greatest control over the

body's responsiveness to changing conditions

(4)

The simple squamous epithelium is made of more
than one layer of cells

Which of the following statement is true regarding
blood vascular system of Pheretima

{1) Contraction keep blood circulation in one direction
only

{2) Smaller blood vessels supply blood to gut, nerve
cord and body wall

(3) Haemoglobin is dissolved in blood plasma and
blood cells are phagocytic in nature

{4) Allare true

174. i B xd vid sxcit vikfclhgy yx diet ksgS%

175.

176.

177.

178,

(1) vRolAk ea

(2) i'plolbk ea

(3) i'plolbki ea

(4) ee lolbki ea

diG | kdAal R g%%

(@) AV iodllsexrigd dg B

(b) viyaidgu 3o% fuy; dldkrkdS

() ary fudl fuy; hHlo i j fuHZdjrkdS

) ,dan p@dsiaib fd; kt kisoky jOr an
fudk dgykkgS

(1) aVvifo

(2) bvi

(3) ¢ visd

(4) aVid

viHig kd8imdsfo'k esD kI B 5%

(1) v kdBeDy/IgE @ ' dk, dy v.kgS

(2) nisls | @l Ve esvHE kdBetkl gskds

(3) viHid kdbid dkd fi XV Hikaurkds

(4) 1 vi52 rga

diE I kdAu IR gS%

(1) 'Relhnhd ykokouhufyd kelees k ht kchgS

2 mdykvigvl Ardiesid di dh U i kht kh
¢

3) rékkArd ey :i | dfjof Zvoikials T 'l
dhvuligh Kityrkd sy &kkd sfy; snfj rikhdskdS

@ |jy 'Rdhndyk, d | s7 d dldkledH rgdh
cuhgshds

fuRLyfl k ed <16 | kdRa i @ivekdgDr ifil gj.k

rUkdd WHeed ghdS

(1) ldpujDr ifil pj.kdls d firilkkescukg[ kkdS

() NSHDr digdkjDr digvidiuy] rikdkj Tt oyl
'l HIR eavkniatlj rkds

(3) foe¥lshujDr lyRekestghdshgBvIBiDr digkik
i G6Mal i dfr dhgshds

(4) | Hbl chgS




179,

180.

Which of the following statement is true regarding
female reproductive system in frog

(a) consistofa pairofovary, situated nearkidney
and functionally connected to kidneys,

(b) A pairofoviductopens into cloacaseparately.
female lays 25000-30000 eggs at a time

(c) fertilisation external and takes place in water

(d) the larval stage tadpole undergoes
metamorphosis to hecome adult

(1)

2) a,b,c

(3) bcd

(4) c. d

How many of the following statements are correct
with reference to the given below diagram of
different animals:

all true

All are vertebrate

All are chordate
All are viviparous animal

All are four chambered heart containing
animals

E. Onlyb, ¢ have scales

gom P

179. FURA/A k ed selkesd dd uurkdd WHEEa] 16
| kdAu | ghdB
(@) ,d tisav. Nk ]oDd dd e fiFc vIBi id
:i 1soDd | st tfvgshgS
(b) ,d tIdhv. MiouhDylsdkesi Ad :i |  lgrh
dBviberk,d | e es25000 &30000v. Mrsh
e
() fu'lpu olé; vibikihed B Ul gskdS
(d) VBlly yiokBik kej.kl so; Ld escry t kkgS
(1) |Hbl R
(2) ab,c
(3) b,c,d
(4) ¢, d
180. fURIFV ke esid r usd Aa ulpsiiny sx; SofHkill t Wyled s
fpkdd WHEd B g%

3«

| HhoWEs oS

| Hhd & o5
| Hootoh £ WapS
| Hipk: i 4B olykgry j[ kisokyst fo gS
dsy b, c ldY j[lkesgS
2
) 4
(3) 3

(4) 1

mBpOorF P

— —
[y




181.

182,

183.

In leaves a bud is present in the axil of petiole in:
a. Simple leaf

b. Compound leaf

c. Auxil of leaflets of the compound leaf

(1) a, b, c

In case of which type of chromosome the
centromereis situated close to its end forming one
extremely shortand one very long arm :

(1) Acrocentric
(2) Telocentric
(3) Metacentric

(4) Submetacentric

Which one of the following is the viviparous reptile: '

(1) Chelone
(2) Testudo
{3) Viper

(4) Calotes

184. The solubility of CO, in blood higher than that of

185.

02

(1) 5-10Times

(2) 20-25Times

(3) 25-50Times

(4) 40-50Times

What is the vasa recta

(1) A minute branch of PCT

{2) A minute branch of henley loop

{3) A minute vessel of capillaries

{(4) A verylarge vessel of capillaries

181.

182,

183.

184,

185.

i Rhlsesi . I8 dsd {keadyhi k ht kkhg

a. ljyiRhlees

b. |afr iRhlses

c. lafr iRhdd «dledsd {kea

(1) a, b, c

(2) a,b

(3) a, ¢

(4) b, c

fdl i dlf dsxgt vkesxgt vidclhddl d sficYdy fd uljs
ij feyrkdBtt11sd HhkvRUW Nsho, d Hgkeag
cMvdshgS%

(1) , e

(2) MylsBAl

(3) esitfye

(4) | cestkiNg

fuRKyfl k ed diE oo | jhi g9

(1) fdyls

(2) VAv-ib

(3) oidj

(4) dyisl

co,dhgu kyrkjDr eso,dhrgjukeasf/ d gshdS
(1) 5-10 XK

(2) 20 - 25 XK

(3) 25-50 XK

(4) 40 -50 XCK

oit kj KD kg8

(1) pcTdh,d | e 'Kk

(2) ceyskkdh, d e 'Kk

(3) diyjhdh,d | e 'Kk

4) déyjhdh,d cgq cMebY




SECTION- B - [ZOOLOGY]

SECTION-B - [ZOOLOGY]

186. True aboutnitrogen bases
(1) Itis a type of heterocyclic compound

(2) Pyrimidines of all nucleic acid are same and purine
may differ

{3) Among purines RNA have uracil and DNA have
thymines
(4) Bothland3

187. Which one of the following is not an amino acid

(1) Aspartic acid
{2) Lysine

{3) Tripalmitin
(4) Leucine

188. Functions of which of the following is notknown

in organisms :
(1) Lectins
(2) Ricin

{3) Morphine
{(4) All of these

189. A Beta-plated sheet is the example of

structure of protein

{2) Secondary
(3) Tertiary
{4) Quaternary
190. Whatis the full form of FAD :
(1) Ferrous Adenine Dinucleotide
{2) FlavinAdenine Diphosphate
(3) FlavinAdenine Dinucleotide
(4) Fluorine Adenine Dinucleotide
191.In Anaphase-|
(1) Chromosomes move to respective poles
(2) Chromatids move to respective poles

(3) Centriole moves towards poles

(4) Spindle fibres move towards equator

186. UDVME U {lf dclised R oS

(1) ;g,d idl dkio'leph ; i8d oS

(2) | HoUiyd vBy ddi jieMu | ek rBkl; jim vyx
o2

(3) |;jim eavl,u dsik ;jify rAkNhu, dsik
Akeuds

(4) risia vis3

fURLfyfl k ed sdIf, d vehdsv By udag®o

(1) ,Likvd vB

(2) yia u

(3) \iidehvu

(4) Y Wi

fukl esl Sl dkdk Z oy K; lsesudhi rkgS%

(1) yBvu

2) fifu

(3) e@

(4) | Hh

,d Iy iv___ i #hu | ppukd knnig. kaS

(1) iled

2 firhd

(3) rrhd

(4) prig

FAD dkivZi D kdS

(1} Ferrous Adenine Dinucleotide

187.

188.

189.

190.

(2} FlavinAdenine Diphosphate
(3) FlavinAdenine Dinucleotide
(4) Fluorine Adenine Dinucleotide
191.i ' plolHki ea
(1) xdkwdjli o /g dhvis pyst ks
2) v/ Xdwdjlifvo / g dhvis pyst ksh
3) rkddse gdhvis pyst ks
4 rdgecee jbikdhvis pyst ks




192. Which one of the following events belongs to
telophase:

(1) Chromosome at opposite poles and lost their
identity as discrete elements

(2) Nucleolus, ER are reform
(3) Nuclearenvelope developes
(4} All of these
193.The Longest phase of cell cycleis :
(1) Interphase
(2) Metaphase
(3) Prophase

(4) Telophase

194. How many mitotic division occur in a cell of root
tip to form 354 cells :

(1) 354

(2) 353

(3) 147

(4) 86

Stomochord presentin:

(1) Urochordata

(2) Cephalochordata

(3) Hemichordata

(4) All of these

Comparison of different transport mechanism:

195,

196.

Property Simple Facilitated  Active

Diffusion  Transport Transport
Uphil A B o
Transport

Whatison A,Band C:
{1) No, No, yes

(2) Yes, Yes, Yes

(3) No, Yes, No

(4)

Moss protonema, PEN of dicot, Rhizoids of moss,

prothallus of fern, gemma of marchantia, egg of
liverwort, zygote of fern.

No, Yes, Yes
197.

How many are haploid structure.
(1) 5

)

) 2
) 4
) 3

192. fuRLfyf k esd I8l hAYilkvB oAk 4 & r o
(1) xdkwkfoljin /gsij gesgSvipifd igoki uda
fr WifehdS
2) dfsdRer ic&dfr det kkds
3) digd SYhdkfodfl r gek
(4 | Hol ghgS
193.d € Idkp@ dHl ¢l syEchi lolHkgS
(1) vrpobk
(2) e ldbk
(3) 1odBk
4 VBlolHk

194, t Mtk hd 1€ Id kesssa d 1§ kd kcukisd gy, fdrus
| el vifoHlt u e

(1) 354

) 353

3) 177

4) 86

195. [Meld MhnflAc dskdS

(1) ; el ik

(2) | BRlel ik

(3) ged Rk

4) | HRh

fofHk i Alg dd fjogu rekd hrguk%

xck Il k | bl | 12
fdj.k  ifogu ifogu

T Ik ks A B C

ifogu

A,BVvipc Dkddk

(1) ugdudddk

) HHK

(3) udddg Wa

(4) uddhdi di

Bk i Ilsteld fichi i hdkrEN] et dkeyitll | QL k

i Hyl ] eld @k kdht e yhojoVA kv . Nkl QA1 k

t oA

full esfd r uhv xg ke | goukg®o

(1

(2

(3

(4

196.

197.

w A~ N

)
)
)
)




198. The hypodermis in dicot stem are made up of:

199,

200.

{1) Collenchyma

(2) Sclerenchyma

(3) Parenchyma

(4) Cuticle

Which of the following are secondary meristems
(1) Lateral meristems

(2) Interfascicular cambium

(3) Cork cambium

(4) All of these

Seive tube elements are present in the phloem
of:

(1) Gymnosperms
(2) Pteridophytes
{3) Angiosperms
(4) Algae

198. gbi I8&X flclt i Kar usescuhgshgB
(1) digediekdk

(2) LDyptiboekdk
(3) 1fdhekdk

@ DMy dk

199. By k ed i firhd foll; lsd g%
(1) i koZoH; Isd
2) vUjivh ,/k

(3) dRAZ/ k
@) | Hh

200. fd| ds¥ylse espiyuhufydkrRo i k ht kchg3o
(1) vuardih
(2) Vs~
(3) viorclih

4) '8y




SOLUT

ION

PHYSICS
SECTION-A SECTION-A
(3) [NCERT-49] ( 1. (3) [NCERT-49]
8m 8 m
(1) 2. (1)
2usin® 2using
g g
=8 sec. =8 sec.
(2) [NCERT-46] | 3. (2) [NCERT-46]
ucos 0 ucos 0
1) [NCERT-94] [ 4. (1) [NCERT-94]
Vo 1 Voo :—1
intesntie of noise s dhriagk
) INCERT-117] | > (@ [NCERT-117]
Never cancelled each other. ,d riysdkfylr dHugad]rsds
(1) [NCERT-98] 6. (1) [NCERT-98]
v2=2gsin 0.5 ......(i) [on smooth incline plane] v?=2gsin 0.5 ...(0) fpdusr lery ij]
v2 ) ' v? .
= 2(gsin® — ugcose)s .....(ii) [on rough 7 =2(gsin8-pgcos0)s ....(i) [ fkur
incline palne] leryiji
egn. (i) and (ii) | elalj . ki) Vi)
sind 1 i 1
pel 0 (i) S S
Sinb—pcos® n* " TSine—pcose M tano{1-
(2) [NCERT-92] 7. [NCERT-92]
80 m/s 80 m/s
B B
@—) 20m/s v, @—) 20m/s v,
lkg 2kg 1kg g
Momentum is conserved in horizontal & vertical j[Slh | ex {5t VISAEdZJ ! lkked p‘ﬂ( ng
directions
3x20 =2v, = v, =30m/s
3x20=2v, = v, =30m/s
0=1x80- 2v, = v,=40m/s
0=1x80-2v, = v,=40m/s
vr98 dkif.kehag v = /30" + 40’
Hence net velocity of B, V = /30° + 40° ﬁ ’
=50 m/s
=50 m/s




16. (3)

8. (1) [NCERT-73] 8. () [NCERT-73]
12=(500 - 20t)* + (400 - 15t)? 12=(500 - 20t)* + (400 - 15t)
F or minimum distance Uweni
S0 2=0
=20m. =20 m.
9. (4) INCERT-46] 9. () [NCERT-46]
10. (1) [NCERT-137] 10. (1) [NCERT-137]
zero. ' Koy
1. 4 [NCERT-178] 11. (4) [NCERT-178]
As there is no external force so velocity of center of disfhada; oy uchdb/r%Reki dordkox v
mass remains V . JOEIA
12. (2) [NCERT-110] | 12. (2) [NCERT-110]
v=u-at v=u-at
0=10-a x4 0=10-ax4
a=2.5 a=25
F=ma F=ma
=465%2.5 so F= 12x10°N =465%x2.5 so F= 12x103N
13. (2) [NCERT-347] | 13. (2) [NCERT-347]
2 2
(3] A=A B
14. (2) [NCERT-104] 14. (2) [NCERT-104]
@ XV=R] @ XV=A
axf=B axi=8
Then A and B will be perpendicular VrY& vIBB ,d nydj yEor g=a
A.B =0 K.B =0
15. (4) [NCERT-104] 15. (4) INCERT-104]
“‘ “A
N> '
[NCERT-163] 16. (3) [NCERT-163]




[NCERT-158]

[NCERT-190]

_2><2><2
1+ (1)?

L

= 4/2 kg m?/s

[NCERT-203]

Mgh
15
R

SO lmvz — mg(ZR)

2 (1+2R
R

AU =

—

R

[NCERT-343]

- tan 45=i
X

a=-x

a =-wX

g):]_.

ZTE =1=T =27 seconds

[NCERT-158]

[NCERT-190]

B 2x2x?2
1+ (1)?

L

= 4./2 kg m?/s
[NCERT-203]

Mgh

(18)

AU =

gr
3

[NCERT-343]
-tan 45=E
X
a=-x
a=-wX
a):]_ .

Z_Frﬁlzﬂ =27 seconds




mx, - mx,=0

O R (1)
50x,-150(2-x,)=0
200 x, =300 x,

X, =15m.

dv_d e
dx_bdx(x)

dv (1 -
d—x—b[ix }
dv_ b
dx  2x

b b’
—a=

-b D
so @ \/;XZ\/; 5

F=ma

o
2

dW =Fdx =W =dex

F =sF =h?

4
=jb2dx
0

W =4 Db

W here n =number of collision
1
heren=1ande =ﬁ

Ly L)
50 \/i hO

h 10
L N
2 '

h =5 metre.

[NCERT-145]

[NCERT-147]

[NCERT-148]

[NCERT-129]

[NCERT-145]
mx, - mx,=0
O (1)
50 x,-150(2-x,)=0
200 x, =300 x,
X, =15m.
[NCERT-147]

L (1+£\ =m L
2™ MRz T 69
[NCERT-148]

G
~ o dx

dv_ d e
dx _bdx(x)

dv (1 -
d—X—b{EX ]
dv_ b
dx 2Jx

50 a=b\/§XL:>a :b—z
24/ 2
F=ma

_a
2

dW =Fdx =W =dex

F =F =i

4
- bdx
0

W =4 b2
[NCERT-129]

; gW=1 RHadhl B; k

1
n=1rF|ke=ﬁ

S
vr 0\/5 h0
h 10

h=to o p=2
2 T3

h=5eh.




25.
26.

27.

28.

29,

30.

3)
()

(2)

(3)

(2)

(3)

[NCERT-128]
[NCERT-276]
AL
As we know %= LO—AB
AL 5x107
AQ = = =5°C
a L, 10x10°x1

[NCERT-274]

Since 102.2°F — 39°C and 98.6°F — 37°C
Hence AQ =m. s. AB =80 x 1000 x (39 - 37)

=16 x10%cal =160 kcal.
[NCERT-281]

mg(h, —h,) =m.c.AB

= 0= L -Ta)

10(10-5.4)
e— .10
460 0.1

[NCERT-327]

VP3 =constant =k = P =y

K_V=uRT

PV=;,LRT:>W

_ pRT
ok

- V2I3

[NCERT-326]

s LM
- 32:>M2—16.

Hence the gasis CH,.

25.
26.

27.

28.

29.

30.

3)
)

()

(3)

()

(3)

[NCERT-128]
[NCERT-276]
t I(r = A_L
e thraf =75
AL 5x107°
AB = = =5°C
a L, 10x10°x1
[NCERT-274]

102.2°F - 39°C rk98.6°F — 37°C

Vvr%aQ =m. s. A8 =80 x 1000 x (39 - 37)
=16 x 10 cal = 160 kcal.
[NCERT-281]
1 e

ol @g

ha
¥

mg(h, —h,) =m.c.Ab

= a9 = L)

10(10 - 5.4)
o W
460 0.1°¢

[NCERT-327]

k
PV =uRT = W.V =uBT

_ pRT
ok

s V2;’3

(ﬁ}ﬂ.? AL [ V )2,’3 ~ T
./ T, 7
T,=9T.

[NCERT-326]

1 M,
So——==,—==M, =16.
N7 E IR

CH,xbea




31. (3) [NCERT-328] | 31. (3) [NCERT-328]
C, +u,C C, +u,C
(Cy) = Hiby, T Haby, (Cy)y = Hpy + Hoby,
Myt 1y (LR ¥
1x—R+1x§R 1><—R-t—1><ER
1+1 1+1
3 5 3 5
[(CV )mcmo :ER' (Cv)di = ER] ((Cv)mono :ER' (Cv)di :ER)
32. (2) [NCERT-324] | 32. (2) [NCERT-324]
Change in internal energy from A — B is A —B ea/lfd AtiEdford
f f f f
2 2 2 2
=%(2P0 % 2V, =P, x V) =%PDVD :g(zp0 % 2V; P, %V, ] gpovo
1 3 1 3
Wi = E(PD +2P,) x (2V, = V,) = EPOVU W= E(P0 +2P,) x (2V, = V,) ZEPDVO
AQ = AU + AW AQ = AU + AW
=gpo\f0 -i-%PQVD = 6P,V, =%P0V0 +%P0V0 =6P,V,
33. (2) [NCERT-329] | 33. (2) [NCERT-329]
For adiabatic process TV*! =constant Ueigedstyt =furid
T, (VY™ (v T, (V)" (V)"
LN RO N . LETG. 'Y N Y
1 7ly,) Tty 1\, Ty,
1 1.25-1 1 0.25 1 1.25-1 1 0.25
== 2[81] x 273 =[J x 273 :>T2=[81] x 273 Z[SJ x 273
=?=91K — -182°C =2§3=91K — -182°C
34. (1) [NCERT-325] | 34. (1) [NCERT-325]
T]=T1_T2 (127 +273)-(87 +273) =-|-1—-|'2 (127 +273)-(87 + 273)
T, (127 +273) Ll (127 +273)
400 -360 400 - 360
=—— " =0.1-10% =—=0.1-109
400 Bt TR




L+l +1, =110cm and nJl, =n,l, =n,

Ay ¥Ry 10y 2 19203

So, |, =60cm,l, =30cm,l; =20cm

35. (@) [NCERT-326] [ 35. (4) [NCERT-326]
" o
T'PY" =constant =P o« T" TP =furd =P « 77!
_ vy _5/3 5 _ ¥ _ 813 B
PeT =C =0 7753-172 PeT =0 7753172
SECTION-B SECTION-B
36. (2) [NCERT-286] | 36. (2) [NCERT-286]
20cm 20cm
K—Gcm—)-! K—Gcm—)-!
100°C | | oc 100°C | | o
A X B A X B
(0, -0,) (0, -0;) (0, —0,) _ (6, —0g)
= A=A = (100- 6) = e = = (100~ 0)
6 6
_%x(IOO—O) _Ex(IOO—O)
0, =70°C. 0,=70°C.
37. (4) [NCERT-288] | 37. (4) [NCERT-288]
38. (4) [NCERT-287] | 38. (4) [NCERT-287]
y «slope. y cidkk
39. (3) [NCERT-365] | 39. (3) [NCERT-365]
3,=3x16=48cm 3, =3 x16 =48cm
40. (2) [NCERT-347] | 40. (2) [NCERT-347]
y = —0.8A sin{wt + kx) y =-0.8A sin(ot + kx)
41. (3) [NCERT-373] | 41. (3) [NCERT-373]
Third overtone is the fourth harmonic i.e., rthjsvf logd pikl echds
n, =4n, = 4x100 =400 Hz n, =4n, = 4 x100 = 400 Hz
42. (2 INCERT-373] | 42, (2) [NCERT-373]

|, +1, +1, =110cm rAknl =n,l, =n,l,

VI = 60cm,l, = 30cm,l, = 20cm




43. (3) [NCERT-344] [ 43. (3) [NCERT-344]
nl =n,l, =n,l..... = constant =k (say) =nl nk =nl, =n,l....=fu rid =k (say) =nl
L+l +l+1, +. = L+L+1 +1, +...... =1
£ L+£+L+ :E £+£+£+L+....=E
n, n, n; n, n n, n, ny n, n
1 1. 1 1
jl—l+l+l+ i o ——be—— e
n n, n, ng n n. N Ny
44. (3) [NCERT-372] | 44 ) [NCERT-372]
. TX
Giveny=55in%xcos40 nt fﬂkgﬁ&y=55'“?c°540 nt
27X rgukdjusj y=2acos 21cft5in2LX
Comparing with Y = 2a €os 2xftsin == YKaja) y = Y
2n  n 20 B e
— == =i=6 cm. & 3 =0
A 3
A
oo A
_2 =3cm. =§:3cm.
45. (2) [NCERT-378] | 45, (2) [NCERT-378]
From the given equation o, = 2nn, = 646x ®, =2nn, =646n
=n,=323 and ®, = 27N, =6521 = n, =326 =n=323and 0, =27n, = 6521 = n, =326
Hence, beat frequency =326 — 323 = 3 vrofli au vidik= 326 -323 =3
46. (3) 46. (3) _
Becauses there is no accelerating or retarding force Dia {6t xr doifu dieRyd cy vAdkesd
available in horizontal motion oy niflBc Lg@
47, (1) 47. (1)
Density if only single liquid filled. %R ij ;n,d m Hkds
48. (2) 48. (2)
non-uniform motion. vl el xir @
49. (2) 49. (2)
According to Bernoulli's theorem adghfy; e | svubji
P.>P,>P, P.>P,>P,
50. (3) [NCERT-79] | 50. (3) [NCERT-79]
5. |- |displacement = 'w“"“|
¥ time av e
Q Q
PQ V2R N\, _PQ_¥R N,
B e
2 20 n
o=2at or t= |2 whereo-T o al o t_\/;' where 6 = =
o
% T
2x B 2 %
—4—2 =25 RET
" B
= 2R :
LV, |=——=—"—""—=1m/s
T | BNy 19 |=5F =75 =1m/




CHEMISTRY

SECTION-A

51.

52,

53.

54,

55.

56.

(3)

(4)

(4)

(2)

()

(1)

SECTION-A
[NCERT-171]
1 1
—A,+-B,— AB, AH=-50Kcal
2 2
1x-i-li -%x=-50
2 22
X X x =50
2 4
2X + X
-x=-50
4
x =200.
[NCERT-170]

Enthalpy of combustion is always exothermic in
nature.

[NCERT 340]
CHy_
CH, ~C=0 N - OH
CHy
CH -~ C O)ume)OH
[NCERT 341, AlIMS 2008]
0 O

M Pentan-2, 4-dione has o-H atoms and

two C=0 groups. Itis also stabilized by H-bonding
in its enol form, so it has maximum enol content

here.
X
(76% enol)
Glycerolis purified by vaccum distillation
[NCERT 355]
using
opC =12, WLOPCO,(9) 104
44 wt of org. comp.
12 0 147
%C = x100 =
C= 12502 =20.04
wt of H,0(g)
9 H~— ———=—=—x100
% 18 wt of org. comp.
2 0 12
%H=—x—x100=
%o 18 W =6.67
% 0 =100 - (%C + %H)

=73.29 %

51.

52.

53.

55.

56.

(3)

@)

@)

()

@)

(1)

[NCERT-171]

La, <18, AB, AH=-50Kcal
2 72

l><+15 -x=-50
2 22

(Li}x:-so
2" %

2X+ X
4

x =200.

—-x=-50

[NCERT-170]
ngu , d A"aldishv HiZE kaB.
[NCERT 340]

Hs
CH ~=P

O+ FJN-OK

CH -H,0
I~
GO OH

{Oxime)

[NCERT 341, AlIMS 2008]

g u i dsdik; I&dM dk bugw
| A/ d GG

X

(76% enol)

X1 jRVdK ksu fudZvikoufof  Hikfd; kKt kcka

[NCERT 355]

12 wt of CO,(qg)
%C=—x——==—x100
oC 44wt of org. comp. )
12 0.147
0, O et =
% C > 0o x100 =20.04
o2 wt of H,0(g)
ot 18 wt of org. comp. *100
2 012
0 =—
/oH_18>< 05 x100 =6.67
% 0 =100- (%C +9%H)
=73.29%




57.

58.

59.

61.

62.

63.

65.

(3) [NCERT 395]
Strongest base is (Nj

(4) i [Mod.CBSE]
When the two groups in a benzene ring direct
differentially i.e. belong to ofp directing and m-
directing, then o/p directing group takes
prodominant.

(4) [NCERT 393]

CH,CH,CH,
—su::fm—’ @ (lBZ:I CH,CH,

3) [NCERT 375]
Due to ortho effect (0-O;NCgH4COOH) will be
strongest acid.

(4) [NCERT 341]

2-Cyclopropyl butane

Optically active due to presence of chiral carbon
atom.

(4) [NCERT 138]
h_P
atconstantvolume T_lz f

putting the values T, =900 K =627°C

Hence temperature must exceeds this value for
brusting of tube.

(2) [Mod. CBSE]

_h  6.63x107
“mv  10x10° %100
=6.63x10"m
(4)

Partial pressure ratio =molar ratio.
(3) [NCERT 21]
By using the formula

i+ mol. wt. of solute}

m 1000

(2) [NCERT-225]
2NO + 2NO Br

Density = M{

B ==

t=0 0.087 0.0437 0
t=eq (0.087 - 2x) (0.0437 - x) 2x
2x =0.0518 = x=0.0259 mol
Equilibrium amountof NO =0.087 - 2x
=0.087 - 0.0518

=0.0352 mol

57.

58.

59.

61.

62.

63.

65.

66.

3) [NCERT 395]
logZd it (Nj geid

@) ; [Mod. CBSE]
viBiENGE sk | eghyBVsEyd folfku d4bk
dig; djrsA

@ [NCERT 393]

CH,CH,CH,
" @—CH—CHZCHB
mifﬁt—) |
Br

3) [NCERT 375]
vifig Ao dsd k. kio-0,NCeH,CO0H) T d s/ d
VEy/h geid

(@) [NCERT 341]
2-| WDy lslsly Cvis egliy didd b

@) [NCERT 138]

o BB
furld vkruij T T
T,=900K =627°C
) [Mod.CBSE]

_h  6.63x10%
“mv  10x10° x100

=6.63x103'm
@)
viéld rc vude = elgj vk
(3) [NCERT 21]
| vkeykevdlja

1 mol. wt of solute

o= M{H+ 1000 }

P [NCERT-225]
2NO  + Br, — 2NOBr
t=0 0.087

0.0437 0
t=eq(0.087 - 2x) (0.0437 - x) 2x

2x =0.0518 => x =0.0259 mol
No dH [Elolbki j eldk  =0.087 - 2x
=0.087 - 0.0518
=0.0352 mol




67.

69.

70.

71.

72

73.

74,

75.

76.

3) [NCERT-219]
il il
H=7+ - pK, — =pK
P 3 PR, 2p b
1
=7+§[4.80—4.78] =7.01
L [NCERT 55]
Fe =26, 3d®4s?
(4) [NCERT 15]
% loss of H,0 in one mole of Na,50 ,.xH,0
18 x 100
142+18x
x=10
(4) [NCERT 220]
Factual
3) [Mod.CBSE]
NV, +NV, +NV, =NV +V +V.)

:zlx10+110><50+;><100=N(10+50+100)

N_5+5+20 30 3

160 160 16

3) [NCERT 359] I

CH,CH,OH —*<¢ 5 CH,CHO

CH,CH,0H —&_ CH,CHO

300°C
(3) [NCERT 377]
ReactionAis HBO (Hydroboration)
Reaction B is oxymercuration - demercuration
Reaction C is acid catalysed hydration
3) [NCERT 335]

CH,
¢, —%H—&Hz - zdl _&H,

OH OH
2-M ethylpentane-2, 4-diol

(3) [NCERT 342]

Most stable carbocation is )"\N/\
|

H
3) [NCERT 380]
CH,COCH,—»CH,CH,CH, - Hl/redP
CH,CHBr—CH,=CH, - KOH (alc\)
CHEO0H—5C H, - Sodalime
C.H.Br—>G.H.. - Na/dry ether

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

(3) [NCERT-219]
1 1
H=7+=pK —=
p 5 PK, szb
1
=?+§[4.80—4.78] =7.01
(1) [NCERT 55]
Fe =26, 3df4s?
@) [NCERT 15]
1 €lg Na,50,xH,0 ed y dhif'l giu
18 x 100
Ta2e1ex >0
x =10
(@) [NCERT 220]
rk
(3) [Mod.CBSE]
NV, + NV, + NV, =NV +V 4
120+ L %504 L 100=N(20+ 50+ 100)
2 10 5 B
N = 5+5+20 30 _ 3
160 160 16
(3) [NCERT 359]
CH,CH,0H —P¢€¢_5 CH,CHO
CH,CH,0H —% > CH,CHO
3) [NCERT 377]

viHEZ ka =HBO (Hydroboration)
viHES k8 = oxymercuration - demercuration

viHEZ kC =acid catalysed hydration
(3) [NCERT 335]

CH,
EH3—EIH—EH2 - zdl _tH,

OH OH
2-M ethylpentane-2, 4-diol

(3) [NCERT 342]

| ol SiHf dkcigku )r\hl]/\

H
3) [NCERT 380]
CH,COCH,—CH.CH.CH, - HIfred P
CH,CH,Br—>CH,=CH, - KOH (alc.)
C,H.COOH —C H, - Sodalime

CHBr—>CH, - Na/dry ether




77. 4) [NCERT 349] [ 77. (4) [NCERT 349]
Factual re
78. (4) [NCERT 179] | 78. (4) [NCERT 179]
Oxidation number of P in ortho-phosphoric acid is vIE @i Gd vE e dhviVhdj. ki b; k+5 dB
1. 79 4 [NCERT 265]
79. (4) [NCERT 265]
0 0
3 2 Na+0'—+51—g—g—1+50'Na+
N a+0'—+51— g8 LSO'N a’
80. (4) [NCERT 142]
80. (4) [NCERT 142] PV, T,
PV, T, PV, T
Uy, T, 8L (1) [NCERT 85]
81 (1) [NCERT 85] | ogd At kKhvid ; drkdghLi+ — Li# + e ds
Greatest amount of energy involves in the W’A
transformation of Li* — Li*? +e 82. (2) [NCERT 85]
82. (2) [NCERT 85] P dhs | sie T, kkgshdbvit kHksg viEddy ds
P have greater IE than S due to halffilled E.C. di.k
Mg have greater |E whtn Al due to full filled EC. Mg dhi | ST; kkgishdbi jsHkag vicdy dsd iy k
83. (1) [Mod. NCERT] 83. (1) [Mod.NCERT]
84. (1) [Mod.NCERT] 84. (1) [Mod.NCERT]
Factual rE
85. (1) [Mod. NCERT] 85. (1) [Mod.NCERT]
NO; has sp2- hybridisation while H,0* has sp>- NO; —sp?
hybridisation. H,0*—sp?
SECTION-B SECTION-B
86. (3) [Mod.NCERT] | 86. (3) [Mod. NCERT]
87. (1) [NCERT 55] 87. (1) [NCERT 55]
d,. have differentshape from other. d,. dkvidl did | ¢ | SofHal B
88. (3) [NCERT 101] | 88. (3) [NCERT 101]
i i 7 7 | ! 7 ]
P +* _P_*+*> P+ p
O/i \O‘_’O_/i_ \0‘_;/{@_\0‘_’0_/ j)’_\o e | N | N o c|>|—\°' e | \,
formal charge on each O-atom =Total charge /No. grlﬂjg,(::“ Vlﬁ)lﬁd viECTvekn-l ey
of O-atoms =-3/4 =-0.75 and P-O bond order = =-3/4 =-0.75
Total no. of bonds /Total no. of resonating structures ol d|§/=d“ d) dH B k]d“ VL[’(H jEkallﬁ
=5/4 =1.25, dhl B k
=5/4 =1.25.
89. (4) [NCERT 83]
89. 4) [NCERT 83]

The size of anion is greater than its neutral atom.

15l u dkUvl i jekkd sciViglsk




90. (3)

91. (1)

92, 4)

93.

(2)

94.

95.

96.

97. (1)

98. (2)

99. (3)

100. (3)

()

(4)

(2)

[NCERT 116]

In P, molecule phosphorous is sp* hybridised so
percentage p-charactor will be 75%.

[NCERT 122]
NO , total number of electron =15
Molecularelectronic configuration =
cls?6*1s’ 02s? 6*25% 52p,’ n2p,} m2p,’ 2P,

[NCERT 197]
On long standing bleaching power decomposes as
Ca0Cl,— CaCl, +Cal(Cl0,),

[NCERT 317]

Sn0,is amphoteric in nature while PbO, is basic
and Si0, and CO, is acidic.

[NCERT 295]
2Na+0,—>Na,0,
[NCERT 295]
Itis fact
[NCERT 301, CBSE 2007]

Thermal stability of carbonates increases in a group
as we move from top to bottom and decreasesina
period as we move from leftto right. So, the correct
order of thermal stability of given carbonates is :
BeCO,<MgCO,<CaC0,<K,CO,

Be, Mg and Ca belongs to lI" group while K belongs
to 1stgroup.

[NCERT 311]
Correct order of Lewis acid character will be

Bl,>BBr, >BCl, >BF, This is due to ability to form
back bonding.

[NCERT 312]

It can be prepared by acidifying an agueous solution
of borax, It has a layer structure in which planer
BO, units are jointed by H-bonding, It is highly
soluble in hot water

[NCERT 319]

On going down the group compounds in +2 oxidation
state become more stable due to inert pair effect.

[NCERT 317]

Fullerenes are cage-like molecules, while
thermodynamically most stable alotropic form of
carbon is graphite.

91.

92.

93.

95.

96.

97.

98.

100. (3)

(3 [NCERT 116]
PV.kps @@ dkldj.ksp Tl 'k p-xck
=75%.

(1) [NCERT 122]
No .dyg byBMRAdhl B; k=15
vkliod byBRud ok =
cls’c*1s’ 625% 6*25 o2p,” n2p,’ m2p ? n¥2p,!

(4) [NCERT 197]
Ca0Cl,~»CaCl, +Ca(Cl0,),

(2) [NCERT 317]

sno, nik/ e dir dkgi cfd poo, Hih]sio,
vico, viyh oS

@) [NCERT 295]
2Na+0,—Na,0,

@) [NCERT 295]
rE

(2 [NCERT 301, CBSE 2007]

rteh fiBrkdid@ydbAij | supd ke j fdl H ey
ed lat)r%6<ahda
BeCO,<MgCO, <CaC0, <K,CO,
[NCERT 311]

fyfd vB/h xckdkl gde 8 i ddlf.k
BI,>BBr, >BCl, >BF, g®iA
()

1)

[NCERT 312]
;gijr | pukjlkk st | eal ery Bo, bdlg kv
g u ) Hikt MjgrhgA
3) [NCERT 319]

rih |Fio® did ghde gekD 6l Aij | aipst ks
ij +2 vAVIdj. ki B; kakLEKoR c<ekA

SiCl, <GeCl, <SnCl, <PbCl,
[NCERT 317]

i @§u dkv.kd fiaMdhrjg gskdS

@V dic dK d Felll uedy ki j:i &




BIOLOGY

SECTION-A - [BOTANY]

SECTION-A - [BOTANY]

101. (2)

[NC-I-14]

Flora contains the actual account of habitat and
distribution of plants of a given area.

101. (2)

[NC-I-14]

Yylikfd| hiiskdd Il Aknhdsolt |Fkdedsio'k
e kdlghrekd

102. (1 NC-I-17
(1) [NC ] 102. (1) [NC-I-17]
Tasie 2.1 Characteristics of the Five Kingdoms ) )
o Five Kingdoms o ﬁwhm T |
Monera Protista Fungl Plantae Animalia | g Wi Ll i G !
Cell type Prokaryotic Eukaryotle  Eukaryotic Eukaryotlc Eukaryotic | W W i iR whifr iR |
e W o e e w T
+ amino acid) cellulose) with e e Ay
Nuclear Absent Present ;‘:Ie::nt Present Present | et , 3 st W i e it
an:;:I;,brane Cellular Cellular Multiceullar/ Tissue/ Tissue/organ/ I e R ke T m"#" Sl
organisation loose tissue organ organ system g duii! b
funtropblc utotrophic eterotrophic uto ic. Heterotrophic il i (T il ] bk it :.:
B g‘;l:l{:‘ ?::]-Jm tm:hlr: el A vl : .
phytle/para- T Py T WW ; P i i J
sitic) [siase 5 T ; ;
103. (1) [NC-I-33]
The plant body is usually attached to the | 103. (1) [NC-1-33]
substratum by a holdfast, and has a stalk, the stipe gg\n@y & t ﬁijﬁ/,
and leaf like photosynthetic organ - the frond i @M B i Ak EyEkk
104. (3 NC--100
3) [ ] | 104. (3) [NC-I-100]
Meristematic - Plant tissue —_
foHi: Isd ik Ard &
105. (4) [NC--114]
105. (4) [NC-I-114]
Green gland is notrelated to the excretion of cock- )
-y i @Bk @Mshu dhntt B fouk
106. (3) [NC-1-218,219,220] 106. (3) [NC-I-218,219,220]
C, plant-Respond higher temperature C,! ka & viid rkek thL@,‘ k
C,plant- 18 ATP C3I|(l & 15 ATH
c,iki & 30 ATP
C,plant- 30 ATP .
107. (1) [NC-1-261,262,263] 107. (1) [NC-I-261,262,263]
Bolus Buccal cavity dgl - oK
Succus entericus Maltase 1Tl , WAl - eRi
Nucleases Pancreatic juice UthB ) VkahJI
HCl O xyntic cell HE - VR disldki
108. (3) [NCERT--166] | 108. () [NCERT--166]

Cell plate - plants cells

Pigeon, sea fan - Animals.

diBldki Veh&i ki digldk
day] | h@ &t Uq

NLI/ 15



109. (2)

110. (@)

111. (1)

112.(1)

113.(4)

114. (1)

115. (3)

[NCERT-I-133,134,135,136,137,138,139,140]
Single membrane = Lysosome,
bounded structure microbodies, vacuole
Double membrane = Nucleus, Chloroplasts
bounded structure
Nan membrane = Nucleolus
bounded structure

[NCERT-I-144]
Classification of amino acids are done on the ba-
sis of Nature of R group
R group is variable in different amino acids
[NCERT-I-323, 324, 325, 326]
Reissners - Cochlea
membrane
Blind spot - Photoreceptor cells
absent
Tympanic - External ear
membrane
Sclera - Comea
[NC-1-125]

Anton Von Leeuwenhoek first saw and described
a live cell. Robert Brown later discovered the
nucleus.

[NC-I-133-134]

Golgi apparatus consist of many flat, disc-shaped
sacs or cisternae of 0.5 um to 1.0 um diameter.

The golgi cisternae are concentrically arranged near
the Nucleus.

[NCERT-}-183]

Imbibition is also diffusion of water along the
concentration gradient.

[NCERT-F196]

Macronutrients are generally present in plant tis-
sues in large amounts (in excess of 10 mmole Kg
-1 of dry matter). The macronutrients include car-
bon, hydrogen, oxygen, nitrogen, phosphorous, sul-
phur, potassium, calcium and magnesium. Ofthese,
carbon, hydrogen and oxygen are mainly obtained
from CO, and H,0, while the others are absorbed
from the soil as mineral nutrition.

Micronutrients or trace elements, are needed in very
small amounts (less than 10 mmole Kg -1 of dry
matter). These include iron, manganese, copper,
molybdenum, zinc, boron, chlorine and nickel.

109. (2) [NCERT-I-133,134,135,136,137,138,139,140]

,dy Byhli §h = yki Kle] fiDrdR
| Fouk ekZich

g h>yh S4h did ] Dylgs/kY
| Fouk
yhifg | pouk

dfivd R jkodsle]
| §¥2lg

[NCERT-I-144]
fofy i Al dsvehiey Bl kox]. kvl Kr gk
& | egyclhi & i

R | egvyx&vyx gskdBvyx&vyx vehls/Byla
e

110. (4)

11 (1)
jit u Z2h
vAfcuig -

[NCERT-I-323, 324, 325, 326]
di®y; k

i dkkdhd B ldka
vufifk

cigd.iZ

dRg

d. &/ >¢h
Xo SAVY -

112.(1) [NC-1-125]

, Wscka fyaidd w8 gyhcli, d t or difldkdls
rbik, cenhd ko, i fd; k

113.(4) [NC-1-133-134]

fl DerdkOQk 05 ety | Olekidely dekdA

xilodti HI [\Vehefy ro6iid ds ik QoflF s
PH

114. (1) [NCERT-183]

ve%ikk, d idlf dkfd j. kdbD Kl ty dhxir
| leki @. kek o€ Ukl A
115. (3) [NCERT-196]
| ¥& Bd rR &cu, Mn, Ni, Zn, CI, B, Mo

onild rR &c,H,0,N,P,K, Mg, S, Ca, Fe




116. (3)

117. 4)

118. (2)

119. (2)

120. (1)

121. (4)

[NCERT--196]

E ssential elements thatare components of energy-
related chemical compounds in plants (e.g.,
magnesium in chlorophyll and phosphorous in ATP).

[NCERT-1-228]

There are sufficientreasons to believe thatthe first
cells on this planet lived in an atmosphere that
lacked oxygen. Even among present-day living
organisms, we know of several thatare adapted to
anaerobic conditions. Some of these organisms
are facultative anaerobes, while in others the
requirement for anaerobic condition is obligate.

[NCERT-1-232]

Also there are three points in the cycle where NAD+
is reduced to NADH +H+and one pointwhere FAD+
is reduced to FADH?2.

[NCERT-I-272]
Residual volume is greater than tidal volume.
[NCERT-I-262]

The stomach stores the food for 4-5 hours. The
food mixes thoroughly with the acidic gastric juice
of the stomach by the churning mevements of its
muscular wall and is called the chyme. The
proenzyme pepsinogen, on exposure to
hydrochloric acid gets converted into the active
enzyme pepsin, the proteolytic enzyme of the
stomach. Pepsin converts proteins into proteoses
and peptones (peptides). The mucus and
bicarbonates present in the gastric juice play an
importantrole in lubrication and protection of the
mucosal epithelium from excoriation by the highly
concentrated hydrochloric acid. HC| provides the
acidic pH (pH 1.8) optimal for pepsins. Rennin is a
proteolytic enzyme found in gastric juice of infants
which helps in the digestion of milk proteins. Small
amounts of lipases are also secreted by gastric
glands.

[NCERT-I-306]

Each actin (thin) filament is made of two ‘F'
{filamentous) actins helically wound to each other.
Each F" actin is a polymer of monomeric ‘G’
{Globular) actins. Two filaments of another protein,
tropomyosin also run close to the ‘F' actins
throughoutits length. A complex protein Troponin
is distributed at regular intervals on the
tropomyosin. In the resting state a subunit of
troponin masks the active binding sites for myosin
on the actin filaments.

Each meromyosin has two important parts, a
globular head with a shortarm and a tail, the former
being called the heavy meromyosin (HMM) and the
latter, the light meromyosin (LMM). The HMM
component, i.e.; the head and shortarm projects
outwards atregular distance and angle from each
other from the surface of a polymerised myosin
filament and is known as cross arm. The globular
head is an active ATPase enzyme and has binding
sites for ATP and active sites for actin.

116. (3) [NCERT--196]
viudZrRot lé IssihAt iZd dir jl kfd ; i6dls
ds®d &5
i.igir esXtihe
, Vinhesl QG

117. (4) [NCERT-I-228]

cst ot id lgtirovid hd u djrsgS jUdof RV

volHyleeavutl h'd u djusyxrsgsd gyl s

i @WAbL , k| licd
118. (2) [NCERT-1-232]
NAD* — NADH +H* = ru LAk

FAD*—>FADH, = ,d i

119. (2) [NCERT--272]
Toh vkru &500 - 600 mi/ | dsM

vo' KV vkru &1100- 1200 mi /1 dsM

120. (1) [NCERT-I-262]
| yeih, elbyb & vk
VXKkh, elbys & vXKkkhl
,WHehb , d deld dat ldvitdhy E skl d Hor
dskah

121. (4) [NCERT-I-306]

rhx; hi Hii il xfr; leed ckd gshdB




122. (4)

123. (4)

124.(1)

125. (4)

126.(2)

127. (4)

128. (3)

129. (1)

[NC-1-298]

Urea is the principal nitrogenous excretory
compound in humans in synthesised in liver by
ornithine cycle and eliminated by mostly through
kidneys.

[NC-I-327]

Macula and crista are the specific receptors of the
vestibular apparatus responsible for maintenance

of balance of the body and posture.

[NC-1-60]
Oviparous mammals - Platypus
Viviparous mammals - Delphinus, Pteropus,
Panthera.

[NC-I-58, 59]

Both (A) and (R) are true and (R) is the correct
explanation of (A)

[NC-I-71]

In some plants such as Australian acacia, the

leaves are small and short-lived. The petioles in

these plants expand, become green and
synthesise food.

[NC-I-163]
The cell cycle divided mainly into two basic phases
Interphase
M phase (Mitosis phase)

Phase

M

[NC--216, 217]
In calvin cycle first stable product
= 3-carbon compound
= 3-phosphoglyceric acid
In hatch and slack pathway first stable product =
4- carbon compound oxaloacetic acid.
[NC-1-259]

The inner most layer lining the lumen of the
alimentary canal is the mucosa. This layer forms
irregular folds (rugae) in the stomach and small
finger like folding called villi in the small intestine.

122, (4)

123, (4)

124.(1)

125. (4)

126.(2)

127. (4)

128. (3)

129, (1)

[NC-1-298]
;v ki ebku U nRt 7 Id ; dir eavkiiity
pQ dshikl ayshe dskdBVIBST; kdj oOd dshiik
dg dskda

[NC-1-327]
8 ykvISTAMOBMEY] rikdsof Y xighgsss
tIs ki dd Wgu o | ghilbfr dfy, nRjrkhdss
6

[NC-1-60]
lystl &visiB Iry kh
N/ Q] \Hsl ] i Bigc&foonB Lru/ kh

[NC-I-58, 59]

(A) VIB(R) Niald ghaS/IBR) | QK ; kaBa) dk

[NC-I-71]
dty i ileesi R hkNishvIBvY vk ol hdshdBlbu
iiblsesi . ldd i @dj i Rhdhrjgidkkl as&kk
djrkdBnnig. k& vIiMe/; u vds; k

[NC-1163]

diéldkp@ dls 2bi Yslsaw i koltHky leesfoHit I
fd; ko ke

vUjlolBk
M i kol Fk(| & v kol ik
[NC-1-216, 217]
dfiou pd dki e
= 38 @i &l jll VB
LAk hnRkn 3&dkdd ; gl
b, ody8 pddk = vix gsl Md VB
i Be LAk hnR I 4& dicd ; igal
[NC-1-259]

vidiuy dhY, @a dH d svWj dhi jr E diskgsh
dB;gijr viekk easfu fer oy; (j; ¥ viBvia
esvaghl Mkoy; vepcukhdd




130. (1)

131. (3)

132. (1)

133. (2)

134. (4)

135.(2)

[NC-I-304]

The correct sequence of organisation of skeletal
muscles is myofibrils — Muscles fiber — Fascicles
— Skletal muscle.

[NCERT-I-248]

In most higher plants, the growing apical bud
inhibits the growth of the lateral (axillary) buds, a
phenomenon called apical dominance.

[NCERT-I-332, 333, 334]

Gonadocorticoids Adrenal cortex

Melatonin - Pinealgland

PRL - Anterior pituitary

Vasopressin - Posterior pituitary

[NCERT-I-284]

SA Node — AV node — Bundle of his — Purkinje
fiber — Heart muscle

[NEET 2017]

Myelin sheath is produced by schwann cells in
PNS and oligodendrocytes in CNS.

[NCERT-I-17]

The three-domain system has also been proposed
that divides the Kingdom Monera into two domains,
leaving the remaining eukaryotic kingdoms in the
third domain and thereby a six kingdom
classification. You will learn about this system in
detail at higher classes

SECTION-B - [BOTANY]

136. (1)

137.(1)

138. (1)

[NCERT-I-26]

Viruses cause diseases like mumps, small pox,
herpes and influenza. AIDS in humans is also
caused by a virus.

All of us who have suffered the ill effects of common
cold or 'flu' know what effects viruses can have on
us, even if we do not associate it with our condition.

[NCERT-I-57]
Members of chondrichthyes, and osteichthyes are
unisexual

Exocoetus - Osteichthyes
Scoliodon - Chondrichthyes
[NCERT-I-81]

This floral diagram belongs to family Liliaceae.

130. (1)

131. (3)

132, (1)

133. (2)

134, (4)

135.(2)

[NC-1-304]
ddly i Skledd &0 dkl ghide &
iShirg - ishrag - ifydlls —
ddlky i Shk
[NCERT-1-248]

Vi itk i i leesof/adjrhv itk fyd kd Kk
dfy; ledho¥sdlsjldrhgdd Rkdisdg s
I e I rk

[NCERT-I-332, 333, 334]
xisiSH R - -, Ny dii
eyRibLI - ity xitbk
PRL - i Viwh
oblsklu - i'p fiviigh
[NCERT-1-284]
SAN >AVN » fg dM - iffdagegs> an i Sh
[NEET 2017]
ekfyuvig. kdkfuedens ead dibldkdstik
vIBVI§/xiBiEV ikens eagskdB
[NCERT-I-17]

N% xr oxidj. ki Y eseledd xié d laidVs ea
chldx; KAk
SECTION-B - [BOTANY]

136. (1)

137.(1)

138. (1)

[NCERT-I-26]

oGl tfr ji& t UylessoSit die] e 1 1 ped]
bYyviak g ] , M-
[NCERT-I-57]

,CH8M VIBLAWY I8 CE 26 d iyl , dfyandS

[NCERT-I-81]

fiv ko kipxfyfy, | hdy dkds
bifi @1 vadBk

X/lgvisk d EfUr
fiy=ah, DAuENg




139. (1)

140. (1)

141. (1)

142. (3)

143. (3)

[NCERT--214-215]

Hence, within the chloroplast, protons in the stroma
decrease in number, while in the lumen there is
accumulation of protons. This creates a proton gra-
dient across the thylakoid membrane as well as a
measurable decrease in pH in the lumen.

The ATPase enzyme consists of two parts: one
called the F is embedded in the membrane and
forms a transmembrane channel that carries out
facilitated diffusion of protons across the mem-
brane. The other portion is called F | and protrudes
on the outer surface of the thylakoid membrane on
the side that faces the stroma. The break down of
the gradient provides enough energy to cause a
conformational change in the F1 particle of the
ATPase, which makes the enzyme synthesise
several molecules of energy-packed ATP.

[NCERT-I-230]

In both lactic acid and alcohol fermentation not
much energy is released; less than seven per cent

of the energy in glucose is released and not all of it
is trapped as high energy bonds of ATP.

[NCERT-I-232]

Pyruvate
(3C)

Acetyl cocnzyme A
2C)

Oxaloacetic acid
lac) Citric_acid

6C)
NADHA! co,
NAD*
NAD*
a-ketoglutaric acid

Matic acid CITRIC ACID CYCLE (5C)
4C)

co,
'NAD*
FADH,; _
AD* NADHAT
'Succinic acid: ADP

(4q) -

[NCERT-1-249]

Gibberellins promaote synthesis of a-amylase this
enzyme converts stored carbohydrates into simple
sugar are mobilised.

[NCERT-I-268]

Lowerinvertebrates like sponges, coelenterates,
flatworms etc exchange of O, with CO, by simple
diffusion over their entire body surface.

139. (1)

detviel dsifu gekds
) IRskesi Bska de gk

[NCERT--214-215]

) MekespH dke<k kk
} , vinhfl Bis d<, Hk dkl ai . kanyuk
e) iBkidkibe fj.k

140. (1) [NCERT-I-230]

Xdis dsyfdd vB vAck, igy fd.ou ds
i'ple+k if'k | sde At lzhi; I gshoB

141. (1) [NCERT-I1-232]

e
cor o %L NAD!

NADH+H"
co,

Lt A

2C)
[5Cl
m

i 3 fma:maw' &0

40

-
(4 C)

for 14.3 Tofes o o

14C)
NADHHT

NAD"

CO,
NAD*

GDP

142, (3) [NCERT-I-249]

ct vepkdsigal pf, r His u ft Gfyu Hikxeu

djrkdd
143. (3) [NCERT-I-268]
0, dkco, dd HkvhdaSi da | il kil j. kdsHik
if5 ki dhl rgij i kkt kkdS

fuiti vd'lsd t Bsid Likdl ] pi \ElTe] 11 ysMVBken




144. (2) [NCERT-1-274] | 144. (2) [NCERT--274]
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Partial pressure of oxygen (mm Hg)

Figure 17.5 Oxygen dissociation curve 145. (3) [NCERT-1-280, 285, 287]
a. virrdo - 160/90 mm Hg

145, (3) [NCERT-1-280, 285, 287] . .

Stroke volume - 70 ml b, LEgYKIU - ToRyREr

Duration of cardiac cycle - 0.8 second c. anpd dhvdf - 0.8ldsM

Monocytes - 6-8% d. anfudk - 5000 feyh
146. (1) [NCERT-1-340] | 146. (1) [NCERT-1-340]

Progesterone, Androgens, Aldosterone, cortisol - DV MY gelied & s Bk d iy, , Ui U] , YNBHY

Stercidal hormone | | BANSANF, GIP, CCK, XBA]

* Remaining are peptide hormone. 147. 2) INCERT--197]

147. (2) [NCERT-I-197] Ubvs U _ leﬂi VE/

Nitrogen - Nucleic acids i w _ UWW VE/

P hosphorus - Nucleic acids dfke - |4 wrdg

Calcium - Mitotic spindle IYQ - i G u

Sulphur - Ferredoxin 148. (3) [NCERT-I-24]
148. (3) [NCERT-}-24] Muygield vt dd ri; vividiod dgyk s

Member of deuteromycetes are called imperfect nnig . k& \Vibd IséiZ

fungi. e.g. Alternaria, Colletotrichum, Trichoderma. 149. (4) INCERT--247]
149. (4) [NCERT-I-247]

Adeninederivative -  Kinetin e - dhsd

Terpenes - Gibberellic acid Ml Oﬂlﬂl - R C'ﬁ/d VE’

derivatives xBh gl -, Ayl

Gaseous hormone - Ethylene dpduiMdkOguW - ,difid vB

Carotenoide derivative-  Abscisic acid 150. (4) [NCERT-I-250]
150. (4) [NCERT-1-250]

Ethylene the respiration rate during ripening of th , oyt | Qe § dusdsrifia ' d udhwdr dhof/a
ylene the respiration rate during ripening of the _ : !
fruits. This rise in rate of respiration is called djrkcB'd uxir edd c<s-diDykefdd 'd u

respiratory climactic. dg s
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151

152,

153.

154,

155,

156.

157.

158.

(4)

(1)

(4)

(1)

(2)

()

(3)

(3)

[NCERT-1-293]

The Malpighian corpuscle, PCT and DCT of the
nephron are situated in the cortical region of the
kidney whereas the loop of Henle dips into the
medulla. In majority of nephrons, the loop of Henle
is too short and extends only very little into the
medulla. Such nephrons are called cortical neph-
rons. In some of the nephrons, the loop of Henle is
very long and runs deep inte the medulla. These
nephrons are called juxta medullary nephrons

[NCERT-1-336, 327]

During earthquakes the hormones adrenaline and
noradrenaline increases the heart beat, the strength
of heart contraction and the rate of respiration.

Catecholamines also stimulates the breakdown of
glycogen resulting in an increased concentration
of glucose in blood in addition they also stimulate
the breakdown of lipids and proteins.

[NCERT-I-334, 335]

Thymus gland - Thymosine

[NCERT-I-317]
The multipolar neuron's contains one axon and two
or more dendrites.

[NCERT-I-321]
Reptiles, birds, mammal - 12 pair cranial nerves

Corpus callosum are unique feature of mammalian
brain.

Amphibia - 10 pair cranial nerves.
[NCERT-I-307]
The junction between a motor neuron and the

sarcolemma of the muscle fibre is called the motor
end plate

[NCERT-1-279]
Albumin helps in maintenance of osmotic pressure
Glucose is presentin plasma
Serum does not clot
Lymph is a connective tissue

[NCERT-I-291]
Protonephridia or flame cells are the excretory
structures in P latyhelminthes (F latworms, e.g., Pla-
naria), rotifers, some annelids and the
cephalochordate - Amphioxus.

151.

152,

153,

154,

155.

156.

157.

158.

(4)
-t O &g husiy escNigely syivgsk B
— i hivhvIisNhivhoDd dsovtly Hik edific gshdB
- Osa LB Y dsvUj Xiesyl dekdA
) [NCERT--336, 327]
Hdit dd e , Mgt visug , Mgt an Lieudis
an |dpu dh{erkdi$'d udhrj discdekdd
- dSHiglal Xidisu ds\Wwisdisi §r djrkd
ft1190r eaguts dhaldkc<tkhdBHd dsrylok
fyfi NEvIBi istll dsWisd lehhi §r djrkd

[NCERT-I-293]

4) [NCERT-1-334, 335]

Fibdl Bk & Hibdblu

1) [NCERT-I-317]

cheh Uikl d , O ka visrissAokvf d NIV
jlkkeA
2 [NCERT--321]
Ijhi]i {8 lry e t Bidi by dhul s
- dikZdgkelry khdsir'd dkvfirh y ke
« nhkpi&Dt hdiky dhu s
P)] [NCERT--307]
i rékd vili St j9kdd difekdsdp | & dis
i vB ifwdkdg A
3) [NCERT-1-279]
CYetpu i jij. I ric digu ke djrkds
- Xis lyRekeanflbc oS

(3)

—

[NCERT-I-291]
| il RI es/iroDrld Rt T puki K HE keh.




159.(4)

Ll

160. (3)

161.(2)

162. (2)

Common
Name

Man

Housefly
Mango

Wheat

163. (1)

[NCERT-I-31-36]
| - Volvox, ll-porhyra, llI-Female thallus of
marchantia
IV-Ginkgo
Volvox, porphyra - Algae
Female thallus of marchantia - Bryophytes
Ginkgo - Gymnosperm
Cryptogams - Algae, Bryophyte, Pteridophyte
P orphyra are members of rhodophyceae they are
produced non flagellates male gamete
All plants containes chlorophyll a
Marchantia - Haplodiplontic life cycle
Volvox, porphyra - Haplontic life cycle
Ginkgo - Diplontic life cycle

[NCERT-I-38]

One of the gymnosperms, the giant redwood tree
Sequoia is one of the tallest tree species. The roots
are generally tap roots. Roots in some genera have
fungal association in the form of mycorrhiza (Pinus),
while in some others (Cycas) small specialised
roots called coralloid roots are associated with N -
fixing cyanobacteria. Mycorrhiza are symbiotic
association.

In Mycorrhiza fungi are associates with root of pinus
and in cycas cyanobacteria are associates these
association are symbiotic. F ungi are heterotrophic
and cyanobacteria are autotrophic organism.

[Modified NEET]
Cryptogams - Hidden sex organ bearing plant.
P hanerogams - visible sex organs bearing plant.
Algae, Bryophyta, Pteridophyta - cryptogams
Gymnosperm, Angiosperms - Phanerogams
[NCERT-I-11]

Tasie 1.1 Organisms with their Taxonomic Categories

Biological Genus  Family Order Class Phylum/
Name Division
Homo saplens Hamo Hominidae Primata Mammalia Chordata
Musca Musca Muscidae Diptera Insecta Arthropoda
domestica
Mangifera Manglfera Anacardiaceae Sapindales Dicotyledonae Anglospermae
tndica
Trittcum Triticum  Poaceae Poales M A permae
aesttoum

[NCERT-I-104]
Outerearjoint - Carlage
Blood formation - Bonemarrow
Biceps - Voluntary
Cardiac - Involuntary

159.(4) [NCERT-1-31-36]
| &yl ] 1 & 1 @jki11 Selid ik kdl kelkiggl ]
Iv &l xig
L&' I8y
&k ls@~
Iv&ft Bl eZ
faveB &' i8y] dxls@V] @M~
i i@ i@ hdK ri; o svpyU y U ; dgd
dkfuelddjrkd
| Hoi sDyIHE @ a j[ ke
oyl ] i I @ k& gy t lou pd
lid Ak k& g/l t lou pd
fxel el N HYA t lou pd
[NCERT-I-38]

fl diskvuardt hdkl d syEeotkdht i B
dod ew(ebdight B 1 &; KW t b A

[Modified NEET]
faveB &MNisgnt udka j[ ksokys ki
| QBB &Li 'V ke hresdys uua j[ keokys ki

161.(2)

'18y] &k Is@VH \HNE@M-& A VisH
ft ik eF, Ul ; I e i Qs
162. (2) [NCERT-I-11]
) .Hﬂﬁmuaﬁiaﬁmma@-«iﬁ'
i i fet e AT st
Leroic g
163. (1) [NCERT-I-104]
() die~d. 2y (jii) nkLEk
(b) jDOr fueld v) viFkeTt k
(c) T kldk (i) , $Nd
(d) ar (i) vubNd




le4.

165.

166.

167.

168.

169.

170.

(3) [NCERT-I-144, 145]
Option 3 is the correct answer of the question as
correct matching are
Fatty acid - Palmitic acid
Phospholipid - Lecithin
Aromatic amino acid - Tryptophan
Acidic amino acid - G lutamic acid

(4) [NCERT--159]

Protein portion of the enzymes is called the
apoenzyme. non-protein constituents called
cofactors Three kinds of cofactors may be identified:
prosthetic groups, co-enzymes and metal ions.

(4) [NCERT-I-262]

Both (A) and (R) are true and (R) is the correct
explanation of (A)

(3) [NCERT-I-68-71]
a, b - tap root modification
— h-Phylloclade of opuntia
Aerial modification of stem.
Itis phylloclade for photosynthesis.
(4) [NCERT-II-23, 26,27]

— Vegetative cell, generative cell presentin pollen
grain

— Allnucleiin embryosac are haploid

3) [NCERT-I-265,266]
Vomitcentre - Medulla

(4) [NCERT-I-310,311]
Coxalbone - Pelvic girdle

Pelvic girdle are included in the appendicular

skeleton
Total fore limbs bone - 60
Total hind limbs bone - 60

164.(3)

(@) dh vy

(b) | @i @fiM

(c) ,jled velesBy
(d) VBl vehisvBy

. (4)

[NCERT-I-144, 145]
iv) 1Reid vEy

(iii) 'y Pl

(i) As®

(i Xnied VE

[NCERT-I-159]

i. dglshle=,ilsake+Igdid
i. Jglshke=,ilshlbe+|g,blke

i. gyglshlbe=,ilsale+/kagku
v. dglshle=,ilshloe+i k8 | ey

. (4)

[NCERT-I-262]

(A) VIB(R) ngd ghd/IBR) | QK ; kaBa) dk

. (3)

[NCERT-1-68-71]

S a b- elyk Mik: i ktj. kB

)

[NCERT-II-23, 26,27]

dit d digld t ui digldki jkd. k e kH kchgS
dit d digldkvip, Wy digidkdhiyk Mi ek

e
Hidd lkd | Hod I6 Ik soiy R¥idshof
. 3) [NCE RT-1-265,266]
caudiiz &  elyk
. (@) [NCERT-310,311]
(1) dy vxia viiEk & €0
2 dgi'pikvikk & 60
(3) ) kvl & nilalhy deky
() dBgk & vh eiyk




171.(4) [NC-I-127]

The prokaryotic cells are represented by bacteria,
blue-green algae, mycoplasma and PP LO (Pleuro
Pneumonia Like Organisms). Yeastis a unicellular
fungus.

172. (3) [NC-1-134]
The isolated lysosomal vesicles have been found
to be very rich in almost all types of hydrolytic
enzymes (hydrolases - lipases, proteases,
carbohydrases) optimally active atthe acidic pH.

[NC-I-134]

Tonoplast is differentially permeable membrane
surrounding the Vacuole.

174. (3)

173.(3)

[NC-1-169]
The simultaneous splitting of the centromere of
each chromosome occurin Anaphase Il.
175. (2) [NCERT-1-285]
SA node is called as pace maker
Atrial systole causes 30% ventricular filling
Cardiac outputdepends on ventricularfilling
Blood pumped during a cardiac cycle is stroke
volume.
176. (4) [NCERT-I-211]

The reaction centre is different in both the
photosystems. In PS | the reaction centre
chlorophyll a has an absorption peak at 700 nm,
hence is called P 700, while in PS Il ithas absorption
maxima at 680 nm, and is called P680.

[NC-I-110]

Ciliated epithelium found in fallopian tube

177. (3)

Three types of cell junctions are found in the epi-
thelium and other tissues

Neural tissue exerts the greatest control over the
body's responsiveness to changing conditions

The simple squamous epithelium is made of a single
thin layer of flattened cells

178. (4) [NC-1-108]
True regarding blood vascular system of P heretima

{1) Contraction keep blood circulation in one direction
only

{2) Smaller blood vessels supply blood to gut, nerve
cord and body wall

(3) Haemoglobin is dissolved in blood plasma and
bleod cells are phagocytic in nature

171.(4)
; Vi BV KI 1L oS dff; Rk-eh
172. (3) [NC-1-134]
yid Il ey , BlodadkoZ s &5
[NC-I-134]
MigliykV , d foHed i e BYWhdbt I I/ kh
[ szeecs )

174. (3)

[NC-I-127]

173.(3)

[NC-1-169]

i Bel xck wed scck wefclg ' plolbko eavyx det ks
03

175. (2) [NCERT--285]
(@
(b)
(c)

(d)

s.v. icdlledrid dgsh

viyaidpu 30% fuy; didkrkds

ary fudk fuy; hHdo ij fuHgdjrkds

,d an pddsifaib ; kt ksdy jOr ing

vkru dgykkds

| 176. (4) [NCERT-}-211]

viHiZ kdbmrdsdok ed R o

viHiZ kdBDYIHE @ o' dk, dy v. kg

sl | @fel [\Ve eavHES kdBirHl gskdS
[NC--110]

'RhndykjDr aifgd kelees kht kehds

nidykestu i dlg dhl Y ikht kkhaB

réidkArd efy @i | dfiofZvabiedd £ '

dhvulig Kityrkd Su &kddy; snitj ikhdskdS

ljy 'Rtihmdyk, d digldkiedhl rg dhcungsh

3

178. (4)

(1)
(2)
177. (3)
(1)
(2)
3)

(4)

[NC--108]

i @vekdgDr ifjl pj.krikdd WHEH dhdS

(1) ldpujDr ifil pj.kdls d firilkkescukg[ kkdS

(2) N§hDr digdkjDr di$vidiuky] riddkjTt oyl
'l HIR eavkniatlj rkds

(3) foei¥/lelu jDr lyKekedighgshdBvIsjDr digldk

i vl i dfr dhgshds




179,

(4)

180.(1)

181

182

183.

184,

185.

a
b.
B
d.

(2)

(1)

(3)

()

(3)

[NC--120]
¢ and d true
consist of a pair of ovary, situated near kidneys.
ovaries are not functionally related to kidneys
a pair of ovaiduct opens into cloaca separately.
female lays 2500-3000 eggs ata time

[NCERT-1-58-59]
Reptiles
Birds

Mammals

Snake (Naja) -
Vulture -
Platypus =

Hippocampus

Osteichythes

All are vertebrate

All are chordate

[NCERT-I-70]

In leaves a bud is present in the axil of petiole in
Simple leaf and Compound leaf.

[NCERT-I-139]

In case of Acrocentric type of chromosome the
centromere is situated close to its end forming one
extremely short and one very long arm.

[NCERT-1-58]
Viper exceptionally viviparous reptiles.
[NCERT-I-273]

The solubility of CO, in blood higher than that of
20-25times

[NCERT-1-293]
Vasa recta is a minute vessel of capillaries

SECTION-B - [ZOOLOGY]

186.

(1)

[NCERT-I-149, Mod.NEET 2019]

Heterocyclic compounds in nucleic acids are the
nitrogenous bases named adenine, guanine, uracil,
cytosine, and thymine. Adenine and Guanine are
substituted purines while the rest are substituted
pyrimidines. The skeletal heterocyclic ring is called
as purine and pyrimidine respectively. The sugar
found in polynucleotides is either ribose (a
monosaccharide pentose) or 2" deoxyribose. A
nucleic acid containing deoxyribose is called deox-
yribonucleic acid (DNA) while that which contains
ribose is called ribonucleic acid (RNA).

179. (4) [NC-I-120]

eltkesd dst wi t Ukdd WiHi&sdRa | ghdB

@ ,d t v Nk ] ol dd efn B VBT IRd ;i
| soldl | sugfat BfagshaS
(b) ,d t iswv.MKguhDylsdkes Rd :i | ] krhdd

viBelrk,d | e ef2500 & 3000 v. MshdS
(¢) fuleu dd; VIBikihed B W gskdS
(d) Vg viddikkej.kl o ld esry t kkdS

180. (1) [NCERT-I-58-59]
a |l
b. H¥%a
c. lysl
d. fgildBl
A. | Hhovz¥ 5
B. | Hod IR S
181. (2) [NCERT-1-70]
i Rhieed . ldt d=d keadyhi kht khdA
a. ljyiRhlsea
b. |8 iRhiles
182. (1) [NCERT-I-139]
, SIEMB d skt weskdk wiclidd d Sty fd ufs
ij feyrkdBitl s d HogkvRUW Nisho ,d Hgk
cg cNagshc
183. (3) [NCERT-}-58]
okij o |jhi &5
184. (2) [NCERT-1-273]
co, dhigu HyrkjDr e, dhrygukeso - 25 Xk
vl d gshdS
185. (3) [NCERT--293]

okkjEvkd$ yjhdh, d | e 'K kS
SECTION-B - [ZOOLOGY]

186. (1) [NCERT-I-149, Mod. NEET 2019]
ubks u K &

| B iayd vBy dd; jher | el rAkd j Heli vyx
o2

fijfeNb esvl, u, dsilk ;j#y rAkMu, dsk
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[NC-I-144]
P hospholipid are found in cell membrane. Lecithin
is one example. Some tissues especially the neural
tissues have lipids with more complex structures.

[NC-I-147]

TABLE 9.3 Some Secondary Metabolites

Pigments Carotenoids, Anthocyanins,
etc.

Alkalotds Morphine, Codeine, etc.

Terpenoides Monoterpenes, Diterpenes etc.

Essential olls Lemon grass oll, etc.

Toxins Abrin, Ricin

Lectins Concanavalin A

Drugs Vinblastin, curcumin, etc.

Polymeric Rubber, gums, cellulose

substances

When one analyses plant, fungal and microbial
cells, one would see thousands of compounds other
than these called primary metabolites, e.g.
alkaloides, flavonoides, rubber, essential oils,
antibiotics, coloured pigments, scents, gums,
spices. These are called secondary metabolites
(Table 9.3). While primary metabolites have
identifiable functions and play known roles in
normal physiologial processes, we do not at the
moment, understand the role or functions of all the
‘secondary metabolites’in host organisms.

[NC-I-150]
An o - helix is an example of secondary structure
of protein.

[NC--159]
NAD =Nicotinamide adenine dinucleotide

[NCERT-I-169, Mod. AIPMT 2012]
Anaphase |: The homologous chromosomes sepa-
rate, while sister chromatids remain associated at
their centromeres.
[NCERT-I-166]
Events of Telophase

Chromosomes cluster at opposite spindle poles
and their identity is lost as discrete elements.

Nuclear envelope assembles around the chromo-
some clusters.

Nucleolus, golgi complex and ER reform.

[NCERT-I-164]

The duration of time period in m-Phase of cell cycle
prophase >Telophase >Metaphase >Anaphase.

[NC-1-163]

Number of mitiotic division equal to given number
of cells -1 =354 -1 =353
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[NC-1-144]

y8 i @i @i Mjskdh

[NC-1-147]
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[NC-I-150]
,d o gyl firhd i st | goukdknnig . kds
[NC-I-159]
NAD =Nicotinamide adenine dinucleotide
[NCERT-I-169, Mod. AIPMT 2012]
i ' plolbik1 esxdkwdjli Do/ gdhvis pys ksh
[NCERT-I-166]
VB lolHkd h s

xckwkdai jin / galhvi, dfk det ksBvisbudh
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[NCERT-1-164]
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[NC-I-163]
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[NCERT--54]

Stomochord presentin hemichordata
[NCERT-I-178]

Facilitated
Transport

Active
Transport
Yes
Yes
Yes
Yes
Yes

Simple
Diffusion
No
No
No
No
No

Property

Yes
Yes
Yes

Requires special membrane proteins
Highly selective

Transport saturates

Uphill transport

No
Requires ATP energy «

No

[NC-1-43]
Zygote of fern (2n),
Moss protonema (n),
Rhizoids of moss (n)
prothallus of fern (n)
Gemma of marchantia (n)
Egg of liverwort(n)
PEN of dicot(3n)
[NCERT-192]
The cortical layers in dicot stem are made up of

parenchyma.
[NCERT-I-85]

The meristem which occurs between mature tissues
is known as intercalary meristem. Both apical
meristems and intercalary meristems are primary
meristems because they appear early in life of a
plantand contribute to the formation of the primary

plant body.
[NCERT-I-87, 88]

Phloem in angiosperms is composed sieve tube
elements, companion cells, phloem parenchyma
and phloem fibres. Gymnosperms have albuminous

cells and sieve cells.They lack sieve tubes and
companion cells.
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[NCERT-I-54]

Meld R fed Rikeannfibic gekaB
[NCERT--178]
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[NC-1-43]
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[NCERT--92]

oyl rgghi I dsuipdhdit i Hor usea fd loek
dhcuhgshdB

[NCERT-+85]
VU lfoH; Isd i ifed foHiT; Isd oS

| kadoHT; Isd] vUjivih ,/ R dKZ / kfirhd
foHiT; lsd &S5

[NCERT-I-87, 88]
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